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290 SRR PR 926 9260805 1926 19260805 |  JE{EAD = 135,53 | m Tt
291 UELEITR 936 936071 1936 1936071 3EE = 214.87[m 324,729
297 UEZEI R 936 936071 1936 1936071 B 595.04[m 668,576
293 UEZEIT T 936 936071 1936 1936071 B = 466.11m 873,689
204 UNER R (B E NS 5)5) 936 937021 1936 1937021 EH = 796.69] m 911,800
295 UELEIT R 958 958062 1958 1958062 B 958,67 m 910,449
296 UELEIT R 936 9370310 1936 1937031 B = 2 m 1,365.481
297 UELEI R 937 9370414 1937 1937041 B = m 346425
208 IR /N PR 958 9580627 1958 19580627 EH = 4 m 2.567.954
299 RN R 958 9580627 1958 19580627 R = m 101,850
300 UELEIT R 958 9580627 1958 19580627 | 3E{EZD = 9 m 5665873
301 UEZEI R 955 9560228 1955 19560228 | SE{EZD = 495.86[m 3057105
302 UELEI R 940 9400805 1940 19400805 | 3E{EZD = 581.81[m 3587009
303 BHIRINERR PR 937 9370401 1937 19370401 B = 2644 m 163,009
304 BRI R 957 9571210 1957 19571210 | JE{BED = 30082|m
305 BRI R 960 9600406 1960 19600406 | JE{EED = 254.54] mi
306 ELELTT 960 9601209 1960 19601209 EH = 407.16]m
307 EE =] 959 95907 1959 19590 EH = 193.43| m EeET
308 =] 959 95907 1959 19590 EH 207.05|m TS
309 =] DREE 959 95907 1959 19590 EH 358.00| mi ERIRE
310 =] DREES 959 95907 1959 19590 EH 33.05|m #BE
311 =] DREES 959 95907 1959 19590 EH 5t 39.66| m BE Y
312 EE =] DREES 959 95907 1959 19590 L] B R 251.23]m EXRRRE 1,548,898




FE 2022 IF
AEES BE RERH MBFE HAMBERE | HtAMEE RS BMBIRERS RE i
EETIPERCES 3 959 1959 19590701 FES 7.76 | m FES T 1,650,810
EEIPERCES 959 1959 19590701 BT m FEI 407,585
EEIERCES 959 1959 19590701 BT m EERE 254,748
O R DR (F E e 959 1959 19590701 BT m BH 6,053,360
ORI DR (FE 959 1959 19590701 BT m EERE 1,536,012
] ORI DR(FERK 959 1959 19590701 BT 15512 i FEI 956,355
9 EETIPEIGES I 959 1959 19590701 [ (R 117.06| i EXRE 721,705
320 IOBEEE 950 1950 19510326 | = m (3371 1,243,204
321 959 1959 19590701 = 377.00[m EXRE 11.747
322 959 1959 19590627 = 75,080.42 [ m EERE 2,339,505
323 959 1959 19590701 = m EE( 75 EIRE 1,120,905
324 959 1959 19590701 = 13.00[m EFE( T EIHES 57.324
325 : BII/NFE 911 1911 19120119 | = 16.52] m 25 106
326 C; EEAIEZ T 959 1959 19590629 | = 208.26[m E 4 1.283.977
327 o EEAIEZT 959 1959 19590629 | = m HE 163,009
328 C; 578 2N 959 1959 19590701 = m HE 12,582,185
329 Gl ISR S s 959 1959 19590701 = m 321 2.136.077
330 C 1515055 81~ BT 388 0D p BT 2 A 959 1959 19590701 = m EFRE 823463
331 C [EEZ G EE ) 959 1959 19590701 = m 231 1.711.969
337 C; 1B &R X P (A ML T) 959 1959 19590701 = 743[m 107460
333 C BEFARZ AT 959 1959 19590701 | = 445 m 4,836,338
334 C; 554 BT 55 /NEE 7332132 SHTBHE 956 1956 19570226 = 693[m 429,408
335 C 3 B2 959 1959 19590701 = 000m 415,690
336 £ SR 959 1959 19590701 | = 453.00[m = 792,862
337 ETE] RPFER 96 196: 19640400 | = 519.00[m i 199,769
338 EE] 96 196: 19640409 | = 793.38[m 891,39
339 EE] 96 196: 19640409 | = 449,58 m 77177
EE] 96 196: 19640409 | = 323.96[m .997.29
EE] 96 196: 19640409 | = 793.38[m 891,39
EE] 96 196: 19640409 | = 79.33] mi 421,298
EE] 96 196: 19640409 | = 38.84] mi 322,088
EE] CEIED 96 196: 19640400 | = 12.39[m ,159.017
ETET CEI 96 196: 19640409 | = 09.91 [mi 527,201
BBR I 959 1959 19590701 | = 317.35[m EE(0 77 EIRE 169.791
BZ F 196: 19640409 | = 66.11]m 585
8 196: 19640409 | = 218.18[m 1,345,136
9 196: 19640409 | = 396.69[m 2,445,696
350 196: 19640409 | = 99.17] mi 408
351 196: 19640409 | = 158.67| m 241
357 196: 19640409 | = 66.11]m 07,585
353 196: 19640409 | = 33.05]mi 03,761
354 196: 1964 [ = 628.09[m 872,338
355 196: 19640409 | = 647.93[m 994,656
356 196: 19640409 | = 634.71[m 913,152
357 196: 19640409 | = 1,175.46 | m 247016
358 CEIAET T 196: 19640409 | = 1.075.44 ] m .630.367 |
359 CEZETAN 196: 19641022 | ¢ = 990.08| mi .104.100]
360 EZAN 196: 19640409 | ¢ = 892.56| m 502,864
361 EZAN 196: 19640400 | = 588.00| m 625,172
362 EI 959 1959 1959070 = 757.02[m 667.225
363 LREE 959 1959 1959070 = 13| m &1l 798,601
364 EDEIEE S 938 1938 1938071 = 58| m [237 798,894
365 [EECEIElE it 980 1980 1980062 = .66 | m 232 41,060
366 [EEETET 959 1959 1959070 = 46| m 85 902,963
367 BAFO 2 FIKTE SCE [ E BN R 959 1959 1960011 = 60| m EE(L 77 EIRE 281.13
368 BRENO%E RUKIE 5 & 1T Fen i 984 1984 1984122: = 23[m EE( TS BLES 106.227|
369 | BT 25 959 1959 19590701 = 14.38000 | m EERR 172.70
7 547 5 5 (1 7.3455-41 LFK 959 1959 19590627 = 66.627.91| m FEEIRE 2076.12
EFHR S BT p32064-1 i 959 1959 195907 = 86| m EE( 75 EIRE 319.730
SR RET 92112 £ 959 1959 19590 = 47.94|m EFE( TS ELHES 295,562
AT KB B R 994 1994 19950 = 64[m 626,637
RET X E 2P 994 1994 19941 = m 636,254
732163 £ 959 1959 19590 = m EE(L 75 EIRE 346,425
R2175-28 FEiBHE 959 1959 19590 = m EFE( TS ELHES 176.383
917 1917 19170827 = m BAE 1544212
959 1959 19590509 = m BH 502,160
3 959 1959 19591 = m EE(L 75 EIRe 489,090
380 959 1959 19591 = m EFE( TS ELHES 509,497
381 959 1959 19590 = m EXRR 271.465
387 959 1959 19590 = m EXRE 482,993
383 959 1959 19590 = m 1>25-E 7.284
384 959 1959 19590 [ = 238.21|m A275-E+ 1,468,626
385 983 1983 19830822 | = m Ex 484,836
386 983 1983 19830822 | = m Ex 233,170
387 983 1983 19830822 | = 24 [m Ex 248,000
388 983 1983 19840109 | = .70[m Ex 300,248
389 983 1983 19830822 | = 16 m Ex 241431
390 983 [ = 62 m Ex 238,102
391 983 1983 19830822 | = .08 m Ex 229,442
397 978 1978 19781112 E = 909.77[m Ex 5,608,968
393 936 1936 19370116 EE = .99 | m Ex 3908.713
394 959 1959 19590701 EE = m Ex 18,672
395 37 1937 19380111 | 3E{EZD = m E EX 4320737
396 7 711005 |  JE(EAD = m 3 E 4,447,741
397 5% 7 750410 EH = m 3 E 4,031,833
308 534 (e 3) 7 761116 B = m 3 E 127.620
399 SEE 7 750805 FEE = 146.66 | m 3 E 904.197]
400 5 GREE) 7 761116 EH = 124.78|m 3 E 769.301
401 fEE MBS 7 750121 | JE(EAD = 660.17 | m 3 Ex 4070119
402 RE ARG DY 2031-2 [IFK 1 160208 |  JE(EAD = 83470 | m 618,049
403 — RS AR A T BN 959 1959 195907 EH = m 42,038
404 3 974 1974 19741 B = m 87387
405 974 1974 19741 B = m 405
406 959 1959 19590 EE] = m 494,295
407 959 1959 19590 EE = m 95,275
408 959 1959 19590 EH = m 2.153.156
409 959 1959 19590 EE) = m 125,543
959 1959 19590 B = m 136,792
959 1959 19590 EH = m 4113
959 1959 19590 EH = m 11,404
959 1959 19590 EH = m 8,226
959 1959 19590 EH = m 6076
16 959 1959 19590 EH = m 5,546
BFAREFARP33211-16 LIHK 959 1959 19590 L] = m 11.840




FE 2022 IF
AEES BE e MEBEEELHE RERH HAFER MBFE WEEAR | HAMGEE | SUAMKLA BHRS | FEEE REEH i L103 BMBIRERS MERS | DRSHE

417 AREFERP93211-17 LLHK 959 95907 1959 19590701 = 42800 mi B 13,336
418 2 1A 959 95907 1959 19590701 — 28717.00]m 3 64 894,821
419 11=2 Wk 959 95907 1959 19590701 — 7.137.00] mi 5864 222,388
420 -3 L%k 959 95907 1959 19590701 = 8.654.00[ m A 269.658
421 -33 WIHK 959 95907 1959 19590701 = 568.00| mi B 17,698
422 =34 [k 959 95907 1959 19590701 0 — 198.00mi 5864 6.169
423 =36 WLk 959 95907 1959 19590701 ) — 152,00 m 5864 975
224 =37 ik 959 95907 1959 19590701 ) — 409.00[mi 5864 12.744
425 -6 LIk 959 95907 1959 19590701 ) — 290.00[mi 5864 9.036
426 —7 AL 959 95907 1959 19590701 B — 224.00[m 5864 6.979
227 =8 [k 959 95907 1959 19590701 EET = 29.00] mi 31 903
428 75 7511 75 75111 JEE = 419.00| mi BEL 2,583,243
429 75103 7 75103 JEE = 234,00 mi BEL 1,442,670
430 7407 7. 7407 JEE] = 152.00{ mi BEL 937119
431 7407 7. 740 JEE] = 208.00| m BEL 1.282.374
432 7407 7 740 EE = 145.00[ mi AT 893,962 |
433 7407 7 740 JEE = 271.00| mi BEL 1,670,785
434 751 7 751 JEE = 19.00| i BEL 139
435 751218 7 751 EED = 202.14m TS 1.246.245
436 751015 7 751 EED = 105.00] i TS 352
437 751215 7! 751 ) = 114.30[m T 689
438 760630 7 7606: {EED = 591.00[m TR 3,643,668
439 740712 7 740712 | FEMEH) = 826.00| m AT 5,092,504
936 9360826 3 360826 | (A = 12561]m TS 774418
936 9370222 3 370222 EED = 18181 m TS 1,120,905
2009 20100331 2009 20100331 AT = 128,363.00[mi 2 B 3999.791
959 19590701 1959 [ 19590701 EED = 99.17]m TS 1
20160915 160915 | JE(EAD = 241[m TS 1,848,486
20160603 160603 |  JE(EAD = 148]m TS 807,897
20160606 160606 |  JE(EAD = 231[m TS 1.156.487
20160606 160606 |  JE(EAD = m TR 605,030
8 20170827 70827 JEE = 371.59| mi ES BEL 2.569.545
9 201 EED = 201.00[m E3 B 5025
450 201 EED = 56.00] i ES TS 1,400
451 {EED = 330[m EX THEA 4,085
452 EET = 287.60[m EX THEA 1,988,754
453 {EED = 991|m EX THEA 001
454 EED = 23.14|m EX THEA 160,013
455 EET = 59.00] mi Ex Tt 475
456 EED = 66.00|m EX TIEA 666
457 AT = 76.00] mi Ex Tt 676
458 EED = 23.14|m EX TIEA 160,013
459 EED = 185.00 | m EX THEA 18,685
460 AT = 85.00]mi Ex Tt 125
461 EED = 171.00| m EX TIEA 275
462 EED = 1910.00| m EX THEA 21,010
463 EET = 783.00[m EX THEA 613
464 Z {EED = 1028.00| m EX THEA 11.308
465 K7 /54 H231 B S/ H231 {EED = 396.00| m EX THEA .900
466 T/ H 218 /5218 EED = 171.00| m EX THEA 881}
467 SR 320032 1 EREET— 80 180 EET = 127.27] m THEA 1,590.875|
468 2 5 7 BT 660857 9052 19052 EED = 7933 mi THEA 245,923
469 B8 KB (325385 1 9052 19052 EED = 2121]m THEA 751
7 38 2 725863 9052 19052 EED = 1004 | m THEA 124
ENY /S TRIITE 9052 19052 EED = 1342 m THEA 602
E A/ 7 R3190% 9052 19052 EED = 6052 m THEA 187,612
L 07531987 9052 19052 EED = 19884] m THEA 616.404
/B P3047 % 9052 19052 EED = 2515 m THEA 965
HRF MR A% FI063EA 9052 19052 EE = 4330 m T E 134,230
B F M)A 73063E 0 9052 19052 EE = 991 | m Tt 30.721
EFEERIRI13E 5 35 0 DS [ ] b B e 30 2019071 19071 EE = 30.05|m 3 Tt 1,409,050
1R 732693 A E > 8— 2020033 2020033 EE = 813.00|m 5 1] Tt 1,154,460
4 12732694 3 = 2020033 2020033 EE = 403.00] mi 351 Tt 572,260
480 12732695 = 2020033 2020033 EE = 1808.00| m 351 Tt 2.567.360
481 12732696 = 2020033 2020033 EE = 360.00] m 351 Tt 511,200
482 1R 732697 = 2020033 2020033 EE = 571.00]m 351 Tt 810,820
483 1R 732697 = 2020033 2020033 EE = .00 | m 351 Tt 44.784
484 12732698 = 2020033 2020033 EE = 132.00 | m 351 Tt 396
485 = 2020033 2020033 EE = 416.00| m 351 Tt 590.720
486 = 2020033 2020033 EE = .00 | m 351 Tt 69580
487 = 2020033 2020033 EE = .00 | m 351 Tt 69,580
488 = 2020033 2020033 EE = 254.00] m 351 Tt 360,680
489 AAmE 2019 2020033 20200331 | 3E{BA = 1021.00| m A0 Tt 1449820
490 BRHT198-2 PR EN T 2020 2020073 2020 20200730 | 3E{BA = 275|m EE( 05 EIRZE | 76 744,000
491 AIRFAEFSE 2020 2020121 2020 2020121 EE = 506.02| m EFE( IS ELES | (T8 165,818
492 AIRFAEF 586 2020 2020121 2020 2020121 EE = 311.47|m EE( IS ELES | T8 564,182
493 Fi¥ i 2E 960 961033 1960 1961033 EE = 20.00[m E3 Tt 000,000
494 T E/% 961 962033 1961 1962033 EE = 24.66|m EXRR Tt 110,970,000
495 T 2E 961 962033 1961 1962033 EE = 15| m EXRR Tt .280,000
496 T E/% 962 963033 1962 1963033 EE = 15.04] m EXRR Tt 680,000
497 T 2E 962 963033 1962 1963033 EE = 81| m EXRR Tt 192,000
498 I E/% 963 964033 1963 1964033 EE = m EXIRR Tt 595,000
499 il s 963 964033 1963 1964033 EE = m ERIRR 109,728,000
500 i E/% 964 965033 1964 1965033 EH = m ERIRR ,960,000
501 i pE 964 965033 1964 1965033 EH = m ERIRR 000,000
502 [32251 4% i E/% 997 998033 199 1998033 EH = m ERIRR 540,000
503 i X% 997 998033 199 1998033 EH = m ERIRR 760,000
504 i HRE 997 998033 199 1998033 EH = m ERIRR 880,000
505 i ZDIMEER 961 962033 196 1962033 EH = m ERIRR 760,000
506 i E/% 961 962033 196 1962033 EH = m ERIRR 000,000
507 i E/% 959 960033 1959 1960033 EH = m ERIRR 20,250,000
508 i E/% 993 994033 1993 1994033 EH = m ERIRR 39,680,000
509 i HIE 993 994033 1993 1994033 EH = m ERIRR 952,000
i X 993 994033 1993 1994033 EE] = m ERIRR 829,000
il ZDMEER 960 961033 1960 1961033 EE = m ERIRR 829,000
i E/% 960 961033 1960 1961033 EH = m ERIRR 22,500,000
i E/% 954 955033 1954 1955033 EH = m ERIRR 21,150,000
i E/% 960 961033 1960 1961033 EH = 90[m ERIRR 37,743,000
BIEHEAWLT 177-1-4-5 i pE 960 961033 1960 1961033 EH = 24| m ERIRR 768,000
5 i E/% 957 958033 1957 1958033 EH = 72| m ERIRR 12.240,000]
7 i E/% 961 962033 1961 1962033 EH = 32| m ERIRR 587.200
KL 1366-1 i E/% 961 962033 1961 1962033 EH = 50 m ERIRR 29,250,000
R A LI 13661 i ¥ 959 960033 1959 1960033 EH = 79| m ERIRR 528,000
520 R E 7 75 1360-38~ 41 T ¥ 959 960033 1959 1960033 L] = 20[m EXRRR 664,000




FE 2022 I
AEES BE e MEBEEELHE RERH HAFER MBFE WEEAR | HAMGEE | SUAMKLA BHRS | FEEE REEH L103 BMBIRERS MERS | DRSHE
521 ABL, 2 1360-38~41 T EJ% 1957 1958033 1957 19580331 — 55[m EERE TR 2.728.000
522 RE4 A 1356-20-22 LA E/¥ 1957 1958033 1957 19580331 = 50 m FEI Bl
523 RiE7 A 1356-20-22 %S EEd 1965 1966033 1965 19660331 = 12[m FEIAY BB
524 RA1198—6-11 Lk [ES 2015 2015070 2015 20150701 [ : = 70[m EEIAN IR |
525 L1758 —3 29 A& 0 984 985033 1984 19850331 EEE = 1256.32[ m EY A 2
526 BN R108—12 2% B 78S O T T 7 983 9840228 E = 101.25| mi SE BB .
527 TEESRIRI3—1 2% SEER BT 4 981 982033 1981 19820331 3 = 23.20[m SHRf BB 624,
528 ERIBI726—1 2% ERTAMERFHEE 0 992 992113 1992 19921130 E = 32088 mi SAR BB 758,
529 HEE)ES78—3 2% EXL R T 4 981 982033 1981 19820331 E = 16.36 [ mi SAR BB 145,
530 T5 R P AT 3h /N ERPI3213—2 j227) ARSE LT 982 982120 1982 19821201 5 =S 126.00[ m SAR BB 010,
531 iR CR BT A /INER P 1974 — A 2Y KR 2000 2001033 2000 200103 i3 = 4860 m S LA 916
537 EH 2522 2Y AR 4 985033 1984 198503 E = 89.20] ] o TS 352,
533 Pfn27 B 29 NER: RS 7 780 7 7801 E = 2069.91[m i BEL 279,437,
534 A 2% & 7 780 7 7801 E = 24.00[ i BEL 440,
535 AR 27 R TE 7 780 7 7801 E = 16.00{ i T8 520,
536 R 24 BREE 7 780 7 7801 I = 83.80[m BEL 313,
537 PR32 —1 2Y BB AR 7 780 7 7801 & = 23.68] mi TS 078,
538 #aiHi26—1 29 EREHE 7 780 7 7801 3 = 59500 m BEL 325,
539 BEA/TA1084—3 2 £ = 7 968033 196 196803 & = 179621 m TS 242,488,
T 2 PR BARE 7 968033 196 196803 & = 180.00] mi TS 300,
T 2 FAZ_{BAT 7 968033 196 196803 & = 40.00[m TS 200,
/T 2 P faR= 7 968033 196 196803 E = 59.85|m TS 079,
Vs 2 P B 7 968033 196 196803 & = 2002 mi TS 602,
JTP31084—1 2 Fi_ERBTE 8 978123 197 197812 & = 639.00] m TS 265
F6—2 2Y HE 966 967033 1966 196703 i3 = 1032.84] mi i) 139.433.
7 2Y EEEEL R e 966 967033 1966 196703 3 = 451.14[m B .903
% 2 FRRER B 966 967033 1966 196703 & = 55.86|m TS 658,

8 % 2 ABAR 966 967033 1966 196703 & = 19.84]m TS 579,

9 % 2 EHE 966 967033 1966 196703 & = 48.95[m TS 650,
550 RE/FH3—2 29 7 978121 197 197812 E = 480.00[ mi BT | 800,
551 3R/ 75994 — 1 2Y 965033 196: 196503 & = 170354] mi BB | 229977900
557 B3R/ 2 965033 196: 196503 E = 6.87 | m TS 264,
553 3R/ 2 965033 196: 196503 E = 0.00] TS X
554 B3R/ 2 9 965033 196: 196503 E = 1.20[m TS .
555 RE/FEI1773— 2 200: 200503 200 20050 = = 7.11[m E3 (TE B .
556 J\ P& /B P32218—2 21 7303 7: 730 & = .40 | m EX THEA X
557 /FIR2218—4 21 7403 7. 740 & = .90 m Ex Tt X
558 /FI72219—9 21 7503 7 750 E = 72| m EX TIEA I
559 /AIR2219—1 21 7603 7! 760 & = 60| m EX THEA I
560 NG 7522051 21 7403 7. 740 & = 223.90|m EX THEA Y
561 NE 7322091 21 7903 7 790 & = 355.80| m EX THEA X
562 732288 —1 21 996 9703 1996 19970 & = 457,62 m EX (TE B 1 X
563 2470—40 B 974 7503 1974 19750 & = 292.08|m EX THEA X
564 2477 21 980 8103: 1980 19810 & = 254.00[m Ex Tt X
565 32416—5 21 981 98203 1981 19820 E = 378.00| m EX TIEA X
566 1382—10 21 981 98203 1981 19820 & = 378.00| m EX THEA X
567 1382—10 21 981 98203 1981 19820 & = 304.48]m EX THEA X
568 2028—1 21 986 98703 1986 19870 & = 19537 | m Ex Tt I
569 21 986 98703 1986 19870 E = 129.10| m EX TIEA X

7 732248—14 21 989 99003 1989 19900 & = 463.26|m EX THEA I
FUREIR19—4 21 [ 981 982033 1981 198203 & = 137.20] mi TRAL (TE B .

FRME A 570812 21 | B P X R 983 9840228 1983 19840228 & = 108.07|m 3 TIEA X

BB 5122 B [FREEBHRITI—F—ST )L 968 9690331 1968 19690331 & = 121.70| m EFAC 77 ELIRE | Hmb X

B P ET333—1 21 EEETR Ty 988 9890320 1988 19890320 3 = 159.06] mi (323 Tt X

P98 B EE eI S 982 83033 1982 1983033 E = 155.00 | m H TIEA I

EFAI198 21 EEE 7 72033 7 72033 & = 691.25[m Tt X

FE350 35 21 BT A7 R AR 1033 7 71033 & = 1194.06] m T 1 .

8 FE350 35 21 SEHT S 1033 7 710331 | 5 = 71| m THEA X

9 FE350 35 E2Y) IS 1033 7 710331 | 5 = 13 m T X
580 FE350 35 B ITES 1033 7 710331 | 5 = 12| m Tt g
581 FE350 35 B3 BN (LS 1033 7 710331 | 5 = 17.97]m oA E | .
582 FE350 35 BT3B E7 C A A B AE (1B A ) 1033 7 710331 | 5 = 1689.39 | m oA E | X
583 FE350 3! BT5v 8\ \EE7: = 4 (A B BB i (16 A 5 B0 1033 7 710331 | 5 = 18.97|m Tt 888
584 K #5320—3 AT 78033 7 780331 | 5 = 129.94 | mi EE(o 75 EIRE | Emk Y
585 R FANREE BB 985033 198 19850331 | & = .00 | m EE( TS ELES | EH X
586 1071—1 BEINEOES 986 9861130 1986 19861130 & = 136.00 | m Tt X
587 151 —1 MNBEABADR 987 9880320 1987 19880320 & = 136.43 | m ErET Tt ¥
588 MIET102—7 FERT B E T I — 991 992012 1991 19920120 | & = 166.04 | m EXRE 2% 37 B4 ¥
589 = /71756 —1 FRRE S 990 991033 1990 19910331 | & = 108.16 | m EE(0 75 EIRE | T8 ¥
590 J712—1 N 972 973033 1972 19730331 | & = 1598.13 | mi 2. Tt 2 1
501 2 J7510—2 SERTEIEIS 987 988033 1987 19880331 | & = 126.00 | m EXRE Tt X
592 SEARTART198—9 EZ 982 982040 1982 3 = 136.08 | mi = et .
593 EFERRI40-3 BRI EE(H22 Bt —fF %) 010 011033 2010 | 3 = 22500 m EFA 75 -EL RS et X
504 JEEE88—1 B! 4 991 992033 1991 3 = 267.00] m EXRA et I
595 RERA Mt I—RBE 7 981 981083 1981 3 = 1102.27 | m EeET Tt 1 .
596 RERE BE =T — L BRE 7 980 981033 1980 3 = 111.78| m ErET Tt .
597 RHIRA10—2 = BNRAERT 8 994 995033 1994 1995033 & = 1.81[m EXRE Tt X
508 #1158 £ R R E ST 4 982 E = 138.54| m 231 T 083,
599 58— RS 0 9850331 198 19850331 & = 1117.63|m BB Tt 201.173;
600 58— FER A T 1 1 9850331 198 19850331 & = 30.80[m EFAC 75 EIRE | (FHH 848,
601 56— R BT IR b Bt B — 4 0110331 201 20110331 & = 86.40|m EE(0 TS ELES | (T8 619,
602 56— B BT B3R 7 S — 7 9940630 199 19940630 & = 1520.00 | m H Tt 466,590,000
603 E 727! B27] £ B o RN R (BT (H22) 011033 201 20110331 | 5 = 12.80]m B 216
604 85761 @Y BRIAL 015033 201 20150331 | 5 = 3952 m Bt Y
605 B 992033 1991 19920331 | & = 10353 | m 2% 57 B4 .
606 976073 1976 19760731 | & = 693.60| m 75.140,000
607 £ /\P31645-2 2009 010033 2009 20100331 | 5 = 295.63| m 50,898,750
608 D2 —2 1992 993033 1992 19930331 | & = 108.04|m 723,600
609 1802—1 2012 013033 2012 2013033 E = 2040 m .224,000

1427—1 1988 9881025 1988 19881025 E = 130.62| m 23,511,600

2000 2001033 2000 20010331 | JEfB = 272.00| m 0

977 978033 1977 19780331 | & = 111347 | m 144,751,100

—19 984 985033 1984 19850331 | & = 279.00] mi 16.740.000

977 978033 1977 19780331 | & = 1

F121—1 984 985033 1984 198503 & = 279.00| m 16,740,000

BFIRT//\T 71606 993 994033 1993 3 = 89.40[m ,493,000

976 977033 1976 19770331 | & = 908.00| mi 122,580,000

BRI R 1936—2 981 982033 1981 19820331 | & = 340.00[m 65.400,000

SFHR AL L JE 125 —1 979 980033 1979 19800331 | & = 7.35[m 561,500

620 E54R/\ IS F 36 H6 (FE36) 994 995033 1994 1995033 E = 00[m 380,000
621 B3R/ £ P32456—1 0} 983 9840325 1983 19840325 E = 136.08] m 10.886.400
622 B F /A /FaR105—2 980 9800401 1980 19800401 E = 40[m 826,000
623 R AT 2318 976 9760401 1976 19760401 E = 00[m 340,000
624 B —8 989 9900131 1989 19900131 EEE = 70[m 103,000
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625 TR Z 1933 EL7] 275 5 987 9880320 1987 19880320 AR — 2536 m BB 1082400
626 RO Z1337—1 29 JII=ET=¥ 3 989 9900331 1989 19900331 E = 10350 i Bl 315,000
627 B35/ FHRB46—1 29 [ &K 990 9910319 1990 19910319 E = 56.80 [ i BB 112,000
628 AR E /A A1271 29 o B XK 991 9920323 1991 19920323 = — 77.76] m B .998.400
629 ARAEIEP92601 —3 29 i) 991 992030 1991 19920301 E = 165.90 | i Bl 25,714,500
630 iRE/AR2237—1 29 R 2 K Pl 994 995033 1994 199503 E = 82.00[ i B .380.000
631 ARRATPI2115—1 2% RETHR S E E LT 994 995033 1994 199503 3 = 117.00[ m BB .360.000
632 hJIRZ418 E17) EJIIMIZ! 995 996033 1995 199603 E = 95.18[ i B 566,200
633 N 71059—2 2% 993 994033 1993 199403 E = 171.97|mi g 2E 16.337.150
634 N XF1059—2 24 o #E{i%(gﬁ FBIE) 2000 2001033 2000 20010331 | w#EE =S 870 m t i B 522,000
635 A ERE1089 £ 2Y £ 543 968 969033 1968 196903 EREE) = 87.80] mi f: T 0
636 =R F986—3 EE] 27 993 994033 1993 199403 E8E = 170.10] mi £ TR 16,159,500
637 A= M1006—3 EE] 2Y (H2.9.10%72) 990 990091 1990 199009 i3 = 15791 m £ i) 15.001.450
638 EEERRI29-5 BEZE 2Y 543 I}i 968 969033 1968 196903 3 = 33.41[m £ B 173,950
639 RESRIE EE] 2 REEE s43 968 969033 1968 196903 & = 86.26|m E8 B 194,700
18 2,494 EE] 2 %&m!&ﬁrﬁ(smﬁiﬂﬂ)(mﬂﬁag) 993 994033 1993 199403 & = 217.00]m 2 B 19,530,000
ARFF /L P31684—2 EE] 27 BHEEE S8 TR 958 959033 1958 195903 E = 68.04|m £ TS 463,800
ARFF /3 1584—2 EE] 2 bET] %(Hzgm%.ﬂ) 958 959033 1958 195903 & = 157.91|m 3 TS 15,001,450
mﬁﬁmﬁwzm BEE 2Y HIRH B+ 2000 20010228 2000 20010228 b3 39582 m £ A 81.143.100
JR88— EER 2Y EEYS Ewt/;— 965 1966033 1965 19660331 3 IR 13 701 £ B 126.300.600
Mfuiﬁ EE] 2% b BEE-HEE T71 20150¢ 2015 20150401 IE! = A .266.000
fREA/FEP1084—3 EE] 2 iR mAE HEE T7av 20150 20 20150401 E = TR 3.434,400
EiRE/F6—2 EE] 2Y P MEE Tyay 20150 20 20150401 b3 = TR 1,512,000
8 51R5R/ A,P3994—1 EE] 2 PR mAE H#E IT7av 20150 20 20150401 E = TR 1,757.166
9 A AT EE] 27 WMAE NEE Tray 20150 20 20150401 E = TR 4,266,000
650 Emﬁx/xﬁwou 3 EE] 2 Pz BAE HEE T73Y 20150 20 20150401 & = 434,400
651 ERE /76— EE] 2Y P MEE Tyay 20150 20 20150401 b3 = 000
652 m?ﬁ/nﬁsm—! BEZAS 2 Fiz MAE NEE T73Y 20150: 20 20150401 & = 166
653 FEHEF21-17 EXR 27 TR A LB B 985033 198: 198503 & = 304|m .000
654 2 BF PR - AR AT 977033 197 197703 & = 723[m 103,340,000
655 2 TR - AfE T 985033 198: 198503 & = 1925 m 227,890,000
656 2 i1 985033 198 198503 & = 48] mi 400,000
657 2 ENREE B ) FEET 986 987033 1986 198703 E = 518.4]m 800,000
658 2Y 986 987033 1986 198703 E = 560[m 470,000
659 R 2 CiE 1F2H 988 989033 1988 198903 3 = 490]m 7 200,000
660 BT 21 E{EFFE. Om x 50. Om 18 2001 2002033 200 200203 & 25| m 7 ,099.500
661 BNFCE B AT Bk B 6 2017012 1701 & TR 2F 1.00] 3t 3 921,400
662 RFER i 21 i 2018012 18012 & = Ed 3 332,800
663 RFHE B R ELUAGI) i 2018022 180227 & = 22.00[m’ 3 933,610
664 IR B B 5 X R E R (KK RR) 7 20180227 180227 & = 00 3 702,590
665 21 o B— 20180712 180712 & = 348.52| m 3 255,056,040
666 X 21 20190329 190329 & = 12.80]m 1 2.883.994
667 KF! 21 20190329 190329 & = [WES & 558.493
668 X! 21 20190329 190329 E = 0[5 i3 522,978
669 SAIR/MIE102—7 21 20190117 190117 & = 131.00 [ m 7 33,665.993
7 FOFBTRS KT 4 5H756-3 21 20190329 190329 & = 005 3 7 818,800
BRIt B 20190320 190320 & = 00 EFE( 75 EIRE | 13 128,384
EET 21 F B 20190331 190331 & = 100.00 | m ERRR 3 608,760
B Si,ﬁlJ\-T-thrBi%‘Mlz ERE 20200330 20200330 & = = BH 3 590,000
B BRI IE 20200305 20200305 & = 924 m SBE 3 655,677
B !ﬁﬁd\;—kiﬂrﬁg ERH A 20200305 20200305 & = 9.24]m SBR 7 656,662
21 4 20200305 20200305 & = 924 SN 1 656.661
21 907 201907 & = EEETS & 578,000
8 21 909 201909 E = B i3 18.150571]
9 21 909 201909 & = 3 I
680 7 21 909 201909 & = 3 .
681 7 21 9093 201909 & = 3 .
682 1RP32446 21 90822 20190822 E = 3 29,
683 12732446 E2Y) 90822 20190822 & = ¥
684 12732446 B 9 90822 20190822 & = X
685 1R 976 976103 19761031 | & = 324.00] mi 50,
686 1R 976 976103 7 19761031 | & = 224.00] mi 30,
687 1R 994 995033 199 19950331 | & = 29.00m .
688 1R 976 976103 197 19761031 | & = 353, 54,
689 B 2020 2020082 2020 20200821 | 5 = .
690 2020 20201106 2020 20201101 & =
691 iR 7> 5B 2020 20201106 2020 2020110 & =
692 REREEEBRRELS 2020 20210205 2020 20210205 & = X
693 TS (BB BEERETS 2020 20200409 2020 20200409 E = I
694 KT —INHEBA T 2020 20200423 2020 20200423 E = 3] ¥
695 HEREE 2020 20201218 2020 20201218 & = 4771 EE(0 75 EIRe 10,
696 HEAEE 2020 20201218 2020 20201218 & = 168. EFE( TS ELHES X
697 2020 20210331 2020 20210331 & = B I
698 2020 20210212 2020 20210212 & = ERIRE X
699 - 2020 20201009 2020 20201009 & = 3 Tt 55,
7 - 2020 20201009 2020 20201009 & = B T 62,
= 2020 20201009 2020 20201009 & = B T8t X
= 2020 & = B T8t
= 2020 20201009 2020 20201009 & = B T8t
= 2020 20201009 2020 20201009 & = B T8t
= 2020 20201009 2020 20201009 & = B T8t
= 2020 20201009 2020 20201009 & = B 8t
70 = 2020 20201009 2020 20201009 & = SER
708 - I% 2020 20201009 2020 20201009 E = SER
709 3 = EPAVIE =% 2020 20201009 2020 20201009 & = SN
710 & /F1756-1 A 2020 2021021 2020 20210219 E = EE(075 BIRe
A 11 2033 011 0120331 | & = 25 21
11 2033 011 0120331 | & = (233 13,
11 2033 011 0120331 | & = (233 447,
11 2033 011 [ 20120331 E = (233 393,
960 1033 1960 19610331 E = 85 11
FER26-1 986 7013 1986 19870131 E = EEo 75 BIRe
FESABL S e SI7— zj’luﬁ-——‘t 4033 20140331 | 5 = ERRE
E3E30 P %ﬁs!ﬁﬁﬁig — =, 5033 20150331 | 3® = EXRA
R0 12035 F73 PR 7 S T I EPEESSES —3t 5033 20150331 _| E = ERER
720 60 L 4 175 B S S P P JERFEREEE 6033 20160331 E —fERE EXRA 497,
721 ERATER B FARREFBIBI (v —F 1 80330 20180330 E TR ERBIRET ERRRE 2,916,000
722 EIEI] & KT —JNBEBEIH 7 80331 20180331 E = B 4,999,978
723 ST & EHRBE 81026 20181026 E = B8 1,645,380
724 KFHIE B IO AERfER R 90329 20190329 E = ERRRE 3,963,600
725 RFHIE B NOERER L e 90329 20190329 E = EXRRRE 1,787,235
726 15842 & BFEBRETIT R 20190214 20190214 E = 3 EE(075- BIRE 614,520
721 FEMAT R B R LMK BET 20200331 20200331 E = ES SBE 550,000
728 [F¥RTAFER i EREEE R 20190607 20190607 & = ES ERRRE 1,255,610
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729 AFER I 201 20190625 20 20190625 TE#E; = FEI BB 3,879,333
7. AFER 201 20190625 20 20190625 E =S ERIRE BB 40,267
7. 201 20200330 20 202003 E =S FEIED BB 10,527,000
RE iR 792446 AARR AT SHE 201 20200316 20 202003 E = SHRE BB 773,000
7. AR S ES 201 20190912 20 1909 E =S BH BB 591,880
7 RA EI@1 e 201 20190912 20 1909 E =S BH BB 149,320
7 FER SRR HRELIIVZ 201 20190912 20 1909 E =S BH BB 862,000
7 R 72446 RARRIMX e plr (2 A8 2019 20190822 20 190822 E = i BB .169.670
7 iR HEt 8— WEBFRHEYREEE 1976 1976103 19 761031 E =S BB .350,000
738 Zia) A= RIS Rk E 1976 1976103 197 761031 E = A .130.000
739 Zika) Tt A= IR GEEE 1976 1976103 197 761031 E = TS 460,000
74 £k ARG E T I— MRIEE HREE 1994 1995033 199 19950331 E = TR 650,000
7: 2 FER XL REIT ARE TS 2020 2020090 2020 20200904 | 3¢ = TS 057,000
7: BINER ANFRREIT ASETE 2020 2021033 2020 202103 E = TS 944,000
7 BN 2010 2011033 2010 201103 E = TR 1
7: ESRHIGE S St 2010 2011033 2010 201103: & = TR 1
7 EZZF 2018 2019033 2018 20190331 | E@ak = 101 T8 2,242,140
7 AFEE 2019 2020033 2019 202003 EEE = TS 15,580,400
7 A 2020 20200619 2020 202006 EED = £ | 1TBEL
7 A 3 2020 2021012! 2020 202101 L = tRE BEL
7 " 2020 2021033 2020 202103 L = i BEL
7! A 2020 2021033 2020 202103 JEE —fEREt BEL
7 = [ F1986-12 i 959 959070 1959 19590701 EED T8 5Kl B S S RIS AT 9.16|m ES TS 2
7 G5 KR 988 989031 1988 19890315 AT = 18.00[m EX TS 3
7 TR KB 988 989031 1988 19890315 AT = 26.00] mi ES TS 4,
7 CESEar KB 987 9880105 1987 19880105 | JE{EED = 53.00|m EX TR 9.
7 TR K 988 98903 1988 19890315 AT = m ES TS
7 CESEar K 988 98903 1988 198903 AT = 23.00]mi ES TS 2,084
7 CESEar K 988 98903 1988 198903 AT = m ES TS 1.432
7 TR KB 988 98903 1988 198903 AT = 22.00] mi EX TR 3906
7 CESEar K 988 98903 1988 198903 AT = 24.00] mi ES TS 4.261
7 TR K 988 98903 1988 198903 AT = m EX TR 566
7 CESEar K 987 9880105 1987 198801 EED = m ES TS 1,083
7 P IKHE 987 9871116 1987 198711 JEE = m ES B 660
7 o R ) ki 987 9880105 1987 19880105 | JE{EAD = 45.00|m EX THEA 288
7 o R ) ki 987 9880307 1987 19880307 {EED = 364.00] m EX THEA 720,530
7 o R ) ki 988 98804 1988 19880 {EED = .00 | m EX THEA 1,598
7 h X ) ki 988 98804 1988 19880: EED = 24.00[m EX THEA 4.26
7 SAIAEF1116~ B 959 95907 1959 19590 EED = 117.00| m EX THEA
7 7 SAIRAEF117-15 A RFLER 959 95907 1959 19590 EED = 80.00m EX THEA
7 iz SEIRAEF1118-3 4N FREER 959 95907 1959 19590 AT = 348[m Ex Tt
7 R SAIRAEF1118-4 AR ABEE 959 95907 1959 19590 AT = 47.00[m E3 (TI Bt
7 iz RAEF1-4 SR ABBEE 959 95907 1959 19590 EED = 98.00[m EX THEA
7 iz RAEF1-8 4 959 95907 1959 19590 EED = 94.00[m EX THEA
T 7 R{E724-2 3 959 95907 1959 19590 EED = 214.00]m E3 (TE B
T 7 R{EF24-2 23 959 95907 1959 19590 EED = .30 mi E3 (TE B
7 iz R{EF24-6 B 959 95907 1959 19590 {EED = .91 | m EX THEA
T 7 RAEF3-2 SRAEH 959 95907 1959 19590 {EED = 1,399.00[ m EX THEA
T 7 RAE75-10 A RFER 959 95907 1959 19590 {EED = 63.00|m EX THEA
778 PAE75- A 959 95907 1959 19590 EED = 204.00] m EX THEA
779 PIBLAT P T 778~ A 959 95907 1959 19590 EED = 598.00| m EX THEA
780 PIELAT P T 779~ A 959 95907 1959 19590 EED = 262.00] m EX THEA
781 PIELAT ) T 779~ A 959 95907 1959 19590 EED = 062|m EX THEA
782 P BT P9 T 780~ A 959 95907 1959 19590 EED = 55.00|m EX THEA
783 PIELAT P 758 A 959 95907 1959 19590 EED = 253.00] m EX THEA
784 PIELAT P E 759~ A 959 95907 1959 19590 EED = 57.00] mi E3 (TE B
785 PIELAT P E 760~ A 959 95907 1959 19590 EED = 72.00|m EX THEA
786 BT E 761~ 959 95907 1959 19590 EED = 102.00| m EX THEA
787 A BB A 762 3 959 95907 1959 19590 EE = 145.00 | m Ex T E
788 A BB 762~ 3 959 95907 1959 19590 EE = .00 | m Ex Tt
789 A BB 764 3 959 95907 1959 19590 EE = .00 | m Ex Tt
79 R B 777 3 959 95907 1959 19590 EE = 142.00 | m Ex Tt

ZE: 76-2 3 959 95907 1959 19590 EE = .00 | m Ex Tt

ZE: 80 3 959 95907 1959 19590 EE = 228.00|m Ex Tt

ZE: 87- 3 959 95907 1959 19590 EE = 7.00[m Ex Tt

ZE: 93 3 959 95907 1959 19590 EED = 5.00 | m Ex Tt

ZE: 95 F 959 95907 1959 19590 EE = 7.00 | m Ex Tt

ZE: 96 ;i 959 95907 1959 19590 EE = 4.00 [ m Ex et

ZE: 98- 3 959 95907 1959 19590 EE = 421]m Ex Tt

A E F #1202~ ;i 959 95907 1959 19590 EE = 7.05|m Ex Tt

A E F 81202~ ;i 959 95907 1959 19590 EE = 18.00] m Ex Tt
800 A E F #1203~ ;i 959 95907 1959 19590 EE = m Ex Tt
801 A E F§i]205- ;i 959 95907 1959 19590 EE = 33| m Ex Tt
802 A F F1350~ ;i 959 95907 1959 19590 EE = 83.00|m Ex Tt
803 A F F F350- ;i 959 95907 1959 19590 EE = 1.290.00[ m Ex Tt
804 A F F1350- ;i 959 95907 1959 19590 EE = 98| m Ex Tt 900
805 A E FE352— ;i 959 95907 1959 19590 EE = .00 | m Ex Tt
806 A E F F352- ;i 959 95907 1959 19590 EE = 115.00 | m Ex Tt
807 A F F359- ;i 959 95907 1959 19590 EE = 294.00] m Ex Tt
808 A F F F1360-: ;i 959 95907 1959 19590 EE = .00 | m Ex Tt
809 A F F362-: ;i 959 95907 1959 19590 EE = 104.00 | m Ex Tt

A T F F1363- ;i 959 95907 1959 19590 EE = 252.00| m Ex Tt

A ) 219-12 ;i 959 959071 1959 19590 3EE = 133.00] m E EX

A ) 221~ i 959 95907 1959 19590 B = 86.00] m E EX

A ) 225~ i 959 95907 1959 19590 B = 553.00[m E EX

A 225~ ;i 959 95907 1959 19590 B = 196.00] m E EX

A F70616-2 ;i 959 95907 1959 19590 EH = 104.00 | m 3 E

A #70623-2 ;i 959 95907 1959 19590 EH = 46.00| m 3 E

A F70624-3 ;i 959 95907 1959 19590 B = m E EX

A% /751748 ;i 959 95907 1959 19590 B = 95.00] m E EX
819 RS/ 71752- i 7 959 95907 1959 19590 B = m E EX
820 RS /71754 ;i 7 959 95907 1959 19590 B = m E EX
821 RS /71756 ;i 7 959 95907 1959 19590 B = 4 m E EX
827 S /751756~ ;i 7 959 95907 1959 19590 EE] = 2 m 3 E
823 S /751756 ;i 7 959 95907 1959 19590 EE = 1 m 3 E
824 A% /751756 AIRE/] 959 95907 1959 19590 EH = m 3 E
825 RE /71757~ AR E/ PR 959 95907 1959 19590 EH = 147.00 | m 3 E
826 RE/ = AR E/ = PR 959 95907 1959 19590 EH = 45.00| m 3 E
827 RE/ = AR E/ = PR 959 95907 1959 19590 EH = 367|m 3 E
828 RE/ ~ AR E/ — PR 959 95907 1959 19590 EH = 805.00| mi 3 E
829 RE/ E AR E/ E PR 959 95907 1959 19590 EH = 329.00] m 3 E
830 R e /71758~ AR E/ = PR 959 95907 1959 19590 EH = 42.00| m 3 E
831 R e /71758~ AR E/ = PR 959 95907 1959 19590 EH = 183.00 | m 3 E
832 R /71758~ AIRE/ = PR 959 95907 1959 19590 L] = 29.00[m 3 E
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833 NE/ — S £ [N E /P 1764-2 Z O 959 95907 1959 19590701 — 199.00m S-EL R 37.274
834 RE/ = [N E/F1764-3 T O 959 95907 1959 19590701 — 121.00[m Ex B 22,664
835 RE/ = ST/ 71764 FHE 2% 959 95907 1959 19590701 = 14,00 i Ex B
836 RE/ ¢ TR /71764~ FHE 2% 959 95907 1959 19590701 = 244,00 mi Ex Bl
837 RE/ B ST/ F1764- FHE 2% 959 95907 1959 19590701 = 27.00[mi Ex Bl
838 RE/ = SRR /71764~ FHE 2% 959 95907 1959 19590701 = m Ex Bl
839 RE/ ¢ STAE /781764 FHE 2% 959 95907 1959 19590701 = m Ex Bl
AE/ — ST /781765~ FHE 2% 959 95907 1959 19590701 = 91.00[ Ex Bl
AE/ — STAE /781766~ FHE 2% 959 95907 1959 19590701 = 65.00[ i Ex Bl
AE/ - SN/ F1767- FHE 2% 959 95907 1959 19590701 = 21.00[ i Ex B
RE/ = AP /5 1768 PR 959 95907 1959 19590701 = 83.00] mi ES T8
RIE /71768 AP e /5 1766~ R 959 95907 1959 19590701 = 545/ m ES T8
A= /Fa17 AR E /P 1] R 959 95907 1959 19590701 = 874.00[m ES T8
RE/FIT SAINE /AT 959 95907 1959 19590701 = 417.00]m ES T8
RE /T 1773 AP /P 1773~ PR 959 95907 1959 19590701 = 212.00]m ES T8
8 RE/FE1774-: AP /P 1774~ PR 959 95907 1959 19590701 = 81.00]mi ES T8
9 RE/F1775- AP /P8 1775~ PR 959 95907 1959 19590701 = 93.00]mi ES T8
850 RE /71776 AP /P 1776 PR 959 95907 1959 19590701 = 121.00[m ES T8
851 RE/FE1777-: A /P 1777~ PR 959 95907 1959 19590701 = 125.00] mi ES T8
857 RE/F1778-" AP /5 1776~ PR 959 95907 1959 19590701 = 7.00[m ES T8
853 RE /71778 AP /5 1776~ PR 959 95907 1959 19590701 = 300 m ES T8
854 RE/FE1778 AP /P 1778~ PR 959 95907 1959 19590701 = 23.00]mi ES T8
855 RE/ 71779~ AINE/FEIT FEEE 959 95907 1959 19590701 = 8500 mi ES T8
856 P& /71782~ AR/ B 959 95907 1959 19590701 = 67.00] mi ES TS
857 P& /71783 7 959 95907 1959 19590701 = 16,00 ES TS
858 P& /71784~ /8 959 95907 1959 19590701 = 56.00|m ES TS
859 & /751786 /8 959 95907 1959 19590701 = 428.00[m EX TS
860 RIE /71788 /8 959 95907 1959 19590701 = 3 m ES TS
861 P& /71790~ 7 959 95907 1959 19590701 = m ES TS
862 & /F1791-: /8 959 95907 1959 19590701 = 2 m ES TS
863 P& /751807 /8 959 95907 1959 19590701 = m ES TS
864 P& /751808 /8 959 95907 1959 19590701 = m ES TS
865 P& /71809 /8 959 95907 1959 19590701 = m ES TS
866 FIE /P 1811 /8 959 95907 1959 19590701 = m ES TS
867 e /P 1812 7 959 95907 1959 19590 = 7 m E3 (TE B
868 e /71814 7 959 95907 1959 19590 = 577.00|m E3 (TE B 1]
869 iz 684 959 95907 1959 19590 TAEREBAIRET 2995.00| m EX THEA 30,429,739
7 AER104 959 95907 1959 19590 = 81| m EX THEA
P E 51057 959 95907 1959 19590 = .91 | m EX THEA
P E 51057 959 95907 1959 19590 = .91 | m EX THEA
P E 51057 959 95907 1959 19590 = .91 | m EX THEA
P 51057 959 95907 1959 19590 = .91 | m EX THEA
P % 51057 959 95907 1959 19590 = 27.00[m EX THEA
P % 51057 959 95907 1959 19590 = 736 m Ex Tt
P % 51058 959 95907 1959 19590 = 33.00[m EX TIEA
8 P % 51058~ 959 95907 1959 19590 = 26.00[m EX THEA
879 P % 51058 959 95907 1959 19590 = 89 m Ex Tt
880 P % 51058~ 959 95907 1959 19590 = 11 m Ex T
881 A E 1071 959 95907 1959 19590 = 69| m EX TIEA
882 RERAEIL272-6 959 95907 1959 19590 = 27.00[m (TE B
883 AR KE L2727 959 95907 1959 19590 — Rt 1.20]m THEA
884 AE L1107 959 95907 1959 19590 T AGB BRI A=A 172.00| m EX THEA 1,747,550
885 AEW1110-2 996 99703 1996 19970 8.5 K38 e 457.00] m EX THEA 11575
886 REW1T11-2 959 95907 1959 19590 = 376.00| m EX THEA
887 P B 814007 959 95907 1959 19590 = .00 | m EX THEA
888 iz 4031 959 95907 1959 19590 = 164.00 | m EX THEA
889 iz 406-6 959 95907 1959 19590 = 19| m EX THEA
890 i 406-7 959 95907 1959 19590 = 80| m EX THEA
891 A 006 959 95907 1959 19590 = .00 | m Ex T E
897 A 006~ 959 95907 1959 19590 = 00| m Ex Tt
893 A 007 959 95907 1959 19590 = 00| m Ex Tt
894 A 007~ 959 95907 1959 19590 = .00 | m Ex Tt
895 A 007~ 959 95907 1959 19590 = .00 | m Ex Tt
896 A 008~ 959 95907 1959 19590 = 00| m Ex Tt
897 A = R 19851 959 95907 1959 19590 = .00 | m Ex Tt
898 A = f 1985~ 959 95907 1959 19590 = 129.00 | m Ex Tt
899 A = f 1985~ 959 95907 1959 19590 = .00 | m Ex Tt
900 A = f 1986~ 959 95907 1959 19590 = 00| m Ex Tt
901 A = i F1986- A1 = J 9864 /AR A B 959 95907 1959 19590 = .00 | m Ex T
902 R 5% 8/ A 498~ AT B ) K 498 B 959 95907 1959 19590 = .00 | m ER T
903 R 5% 2/ A 498~ AT B 8/ A 498~ i3 959 95907 1959 19590 = 00| m ER T
904 R % 2/ A 499~ AT B 8/ A 499~ i3 959 95907 1959 19590 = .00 | m ER T
905 R 5% 2/ A 499 AT B 8/ A 499 i3 959 95907 1959 19590 = 00| m ER T
906 R 5% 2/ A 499~ AT B8/ A 499 B 959 95907 1959 19590 = .00 | m ER T
907 A% X 1405~ AR A 1405~ 959 95907 1959 19590 = 213.00|m Ex Tt 39,89
908 A/ 1151099 STRIERI0 959 95907 1959 19590 = 139.00 | m Ex Tt
909 R/MITE1T100-12 SRR 959 95907 1959 19590 = 41.00] m Ex Tt
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[ 1232 RAE R 959 95907 1959 19590 EH = 32.00[m 3 E
[ 1233 B 959 95907 1959 19590 R = 15.00[mi 3 E
[ 1234 REEH 959 95907 1959 19590 B = m 3 E
[ 1235 REEH 959 95907 1959 19590 B = m E EX 1]
[ 1236 959 95907 1959 19590 B = 38 m 23532.797 |
[ 1237 959 95907 1959 19590 B = 924,64 m 5,700,646
[ 1238 B 959 95907 1959 19590 EE] = 0.11 [ m 3 E
[ 1239 23 959 959071 1959 19590 EE = 0.00 [ m 3 E
B 959 95907 1959 19590 EH = 109.00 | m 3 E
B 959 95907 1959 19590 EH = 109.00 | m 3 E
BB 959 95907 1959 19590 EH = 16.00] m 3 EX
PR 959 95907 1959 19590 EH = 74.00] m E EX
FIERE 959 95907 1959 19590 EH = 119.00] m E EX
RGBT 959 95907 1959 19590 EH = 39.00] m E EX
AR 959 95907 1959 19590 EE) = 109.00 | mi 3 E
PR 959 95907 1959 19590 B = 39.00m 3 E
FER 959 95907 1959 19590 L] = 188.00| m 3 E
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[ 1249 BT B2 1775-4 S f: R TEDHZ1 95907 1959 19590701 — m S EL
| 1250 R FEWHZ1776 AR T EBHEZ1776 2 95907 1959 19590701 = m ES
[ 1251 R FENHEZ1777-4 RFEDHEZ1 95907 1959 19590701 = m ES
1252 R RPI2176-3 AR5 R 92176 95907 1959 19590701 = m ES
253 AR Z,535-6 3 95907 1959 19590701 = m EX
[ 1254 AR Z,535-7 95907 1959 19590701 = m ES
[ 1255 AR 3 7,535~ 95907 1959 19590701 = m ES
[ 1256 AR 30 7,538 95907 1959 19590701 = m ES
[ 1257 AR 30 7,539~ 95907 1959 19590701 = m ES
1258 7.5 95907 1959 19590701 = m E
1259 Z 95907 1959 19590701 = m E3
1260 Z 95907 1959 19590701 = m E3
1261 Z 95907 1959 19590701 = m E3
1262 Z 95907 1959 19590701 = m E3
263 Z 95907 1959 19590701 — =3t m EX
1264 K 20030619 2003 20030619 T S KGE BIZEL m E3 158,358
[ 1265 95907 1959 19590701 = m E3
1266 95907 1959 19590701 = m E3
1267 95907 1959 19590701 = m E3
1268 95907 1959 19590701 = m E3
1269 95907 1959 19590701 = m E3
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
7 95907 1959 19590701 = m EX
78 95907 1959 19590701 = m E3 17013
1279 TR 95907 1959 19590701 = m E3 579,61
1280 JER 95907 1959 19590701 = m E3 555,659
1281 JER 95907 1959 19590701 = m E3 41153
1282 iR/ E 924642 95907 1959 19590701 = m E3 78.486
283 EFHR & /B B 749-2 95907 1959 19590 = m Ex 7
[ 1284 BB E /A 51-4 95907 1959 19590 = m Ex 7
[ 1285 BFHR & /A5 756-1 95907 1959 19590 = m Ex 1
[ 1286 BFIR & /A5 766 95907 1959 19590 = m Ex 7
[ 1287 EFHR & /A 769-3 95907 1959 19590 = m Ex 7
[ 1288 BF4R & /8733931 95907 1959 19590 = m Ex 7
[ 1289 BF4R & /A 733932 95907 1959 19590 = m Ex 7
1200 BFHR /B 73394 95907 1959 19590 = m Ex 7
[ 1291 EFHR & /AP 78- 95907 1959 19590 = m Ex 1
[ 1202 BFHR & /AP 78 95907 1959 19590 = m Ex 7
293 BFHR & /A P79 95907 1959 19590 = m Ex 1
[ 1204 BFHR & /A 7319~ 95907 1959 19590 = m Ex &
1205 BB/ 5 (32227 95907 1959 19590 = m Ex 7
[ 1296 BB &/ A 132227 95907 1959 19590 = m Ex 7
[ 1207 BB B/ 132232 95907 1959 19590 = m Ex 7
[ 1208 EFIR &/ 132233~ 95907 1959 19590 = m Ex 7
[ 1209 BB &/ 132234~ 95907 1959 19590 = m Ex 7
1300 BFIR /4 32238~ 95907 1959 19590 = m Ex 7
1301 BFHR /4 132239~ 95907 1959 19590 = m Ex 7
1302 5 2. 95907 1959 19590 = m Ex 7
[ 1303 95907 1959 19590 = m Ex 7
[ 1304 95907 1959 19590 = m Ex 7
[ 1305 95907 1959 19590 = m Ex 1
[ 1306 95907 1959 19590 = m Ex 3
[ 1307 95907 1959 19590 = m Ex
[ 1308 95907 1959 19590 = m Ex
1309 95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
95907 1959 19590 = m Ex
7 95907 1959 19590 = m Ex
BRI 95907 1959 19590 = m Ex
BB B AR PI 1559~ 95907 1959 19590 = m Ex
1319 EFHR B AR PY 1550~ 95907 1959 19590 = m Ex
[ 1320 EHR B AR PI 1561~ 95907 1959 19590 = m Ex 1]
1321 EFHR B AR PI 1561~ 9890209 1988 19890209 = m Ex 2,625.784]
[ 1322 EFHR B AR DT 1561 9890209 1988 19890209 = m Ex
[ 1323 EFiR B AR PI 1662 9880307 1987 19880307 = m Ex
| 1324 EFHRB AR PI1563 9880307 1987 1988030 = m Ex
[ 1325 BF4R 5 7 731832 959070 1959 195907 = m Ex
[ 1326 7.3066- 95907 1959 19590 = m Ex
[ 1327 2.3066 95907 1959 19590 = m Ex
[ 1328 2.3067- 95907 1959 19590 = m Ex
[ 1320 23072~ 95907 1959 19590 = m Ex
[ 1330 2.3074-: 95907 1959 19590 = m Ex
[ 1331 Z.3075-; 959071 1959 19590 = m E EX
[ 1332 ER1411- 95907 1959 19590 ] = m E EX
[ 1333 ER1411- 95907 1959 19590 R = m E EX
[ 1334 J 731444~ 95907 1959 19590 B = m E EX
[ 1335 J 1731452 95907 1959 19590 B = m E EX
[ 1336 FH 731456~ 95907 1959 19590 B = m E EX
[ 1337 F/ R P3851— 95907 1959 19590 B = m E EX
[ 1338 F/ % /FaPI103- 95907 1959 19590 EH = m 3 E
[ 1339 £/ /FapI103- 95907 1959 19590 B = m 3 E
F/ 4 /7Py 103" 95907 1959 19590 R = m E EX
F/ 4 /TPy 105 95907 1959 19590 B = m E EX
F/ & /FAp 107 95907 1959 19590 EE] = m E EX
BFiR /4 /P8 79100- 95907 1959 19590 EE = m E EX
BFiR /4 /P8 79109- 95907 1959 19590 EE) = m E EX
BFiR /A /PN 118~ 95907 1959 19590 B = m E EX
BFiR /A /P 122- 95907 1959 19590 B = m E EX
BFiR /A /P 122 95907 1959 19590 EH = m E EX
BFiRS /A /PN 122 95907 1959 19590 EH = m E EX
1 BFiR /A /P 124~ 95907 1959 19590 EH = 25.00] m E EX
[ 1350 BRE/ A/ 95907 1959 19590 EH = 46.00| m 3 EX
[ 1351 R/ A/ 121~ 95907 1959 19590 EH = 22.00[m 3 EX
1352 R/ A /PP 128~ 95907 1959 19590 L] = 12.00] m 3 EX
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353 5 A5 2.252-2 g £ BB 984 9850105 1984 19850105 = 208.00[m B TR 1,282,374
1354 & B 23756 R & B 23756 AR I 959 95907 1959 19590701 — 539.00|m Ex A
[ 1355 [\ LI B1600- /ML FE600-2 435 FRE B 959 95907 1959 19590701 = 16.00[ i Ex BB
1356 LI 605 L 3 959 95907 1959 19590701 — 23.00[m ER B
[ 1357 A 6= ! AR 959 95907 1959 19590701 = 152.00| i Ex BB
[ 1358 A 7-: E AER 959 95907 1959 19590701 = 9500 Ex BB
[ 1359 A - - AER 959 95907 1959 19590701 = 1 m Ex BB
1360 A = - AER 959 95907 1959 19590701 = m Ex BB
[ 1361 A 0-; - FRERE 959 95907 1959 19590701 = m Ex BB
[ 1362 A B B B 959 95907 1959 19590701 = m E3 B
363 A E E FB 959 95907 1959 19590701 = m ES TS
[ 1364 EAIIZ 1121~ Z 1121~ FRIE 959 95907 1959 19590701 = m ES T8
[ 1365 _E 27334 959 95907 1959 19590701 = 16.00]m ES T8
[ 1366 _EE7R335~ 959 95907 1959 19590701 = 25.00[m ES T8
[ 1367 1 57— 959 95907 1959 19590701 = 1520 m E3 i)
1368 1 E 959 95907 1959 19590701 = m E3 B
[ 1369 K = 959 95907 1959 19590701 = 12.47m ES T8
7 K E 959 95907 1959 19590701 = m ES TS
7 K E 959 95907 1959 19590701 = m ES TS
7 K E 959 95907 1959 19590701 = m ES TS
7 K E 959 95907 1959 19590701 = m ES TS
7 K — 959 95907 1959 19590701 = m ES TS
7 K 959 95907 1959 19590701 = m ES TS
7 959 95907 1959 19590701 = 522.00[m ES TS
7 959 95907 1959 19590701 = 1.811.00[m E3 i)
78 959 95907 1959 19590701 = 158.00] mi E3 B
1379 959 95907 1959 19590701 = 307.00[m ES TS
1380 959 95907 1959 19590701 = 33.00]mi ES T8
1381 959 95907 1959 19590701 = 257.00[m ES TS
[ 1382 959 95907 1959 19590701 = 112.00] mi EX TS
383 959 95907 1959 19590701 = 56.00] mi ES T8
[ 1384 959 95907 1959 19590701 = 52.00] mi ES TS
1385 959 95907 1959 19590701 = 36.00] mi ES T8
1386 959 95907 1959 19590701 = 26.00] mi E3 A
[ 1387 959 95907 1959 19590 = 39.00] mi Ex T
[ 1388 959 95907 1959 19590 = .30 [m Ex T
[ 1389 959 95907 1959 19590 = 13.00]m EX TIEA
[ 1390 959 95907 1959 19590 = .30 | m EX THEA
[ 1391 959 95907 1959 19590 = 423.00|m EX THEA
[ 1392 959 95907 1959 19590 = 224.00] m EX THEA
393 959 95907 1959 19590 = 614.00]m EX THEA
[ 1394 959 95907 1959 19590 = .00 m Ex Tt
[ 1395 959 95907 1959 19590 = 112.00|m EX TIEA
[ 1396 959 95907 1959 19590 = 125.00 | m EX THEA
[ 1397 959 95907 1959 19590 = 185.00 | m EX THEA
[ 1398 959 95907 1959 19590 = 23.00[m EX THEA
[ 1399 959 95907 1959 19590 = .00 | m EX THEA
1400 959 95907 1959 19590 = .30 | m EX THEA
1401 959 95907 1959 19590 = 13.00]m EX THEA
[ 1402 959 95907 1959 19590 = 66.00|m EX THEA
[ 1403 959 95907 1959 19590 = 29.00m EX THEA
[ 1404 959 95907 1959 19590 = 61| m EX THEA
[ 1405 959 95907 1959 19590 = 72.00[m EX THEA
1406 959 95907 1959 19590 = 72.00|m EX THEA
1407 959 95907 1959 19590 = 29.00[m EX THEA
[ 1408 959 95907 1959 19590 = 85.00|m EX THEA
1409 959 95907 1959 19590 = 661|m EX THEA
959 95907 1959 19590 = 7.00[m E3 (TI B
959 95907 1959 19590 = m ER T
959 95907 1959 19590 = 1 m ER T
959 95907 1959 19590 = m ER T
959 95907 1959 19590 = m ER T
959 95907 1959 19590 = m ER T
959 95907 1959 19590 = m ER T
959 95907 1959 19590 = 9 m Ex Tt 1.961.66:
959 95907 1959 19590 = m ER T
1 959 95907 1959 19590 = m ER T
[ 1420 959 95907 1959 19590 = m Ex Tt
[ 1421 959 95907 1959 19590 = m Ex Tt
[ 1422 959 95907 1959 19590 = m Ex Tt
[ 1423 959 95907 1959 19590 = .00 | m Ex Tt
[ 1424 959 95907 1959 19590 = 186.00 | m Ex Tt
[ 1425 959 95907 1959 19590 = 809 m Ex Tt
[ 1426 959 95907 1959 19590 = 80.00[m Ex Tt
[ 1427 959 95907 1959 19590 = 14| m Ex Tt
[ 1428 959 95907 1959 19590 = 22| m Ex Tt
[ 1420 959 95907 1959 19590 = 06| m Ex Tt
[ 1430 959 95907 1959 19590 = 42.00| m Ex Tt
[ 131 959 95907 1959 19590 B = 19.00]m Ex Tt
[ 1432 959 95907 1959 19590 B = 76| m Ex Tt
[ 1433 959 95907 1959 19590 B = m Ex Tt
[ 1434 959 95907 1959 19590 EE — RSt 6 m ER T
[ 1435 999 2000033 1999 2000033 EE K SRR AT 8! m 3 E 5,246,636
[ 1436 959 959070 1959 195907 (EE = 5 m 3 E
[ 1437 959 95907 1959 19590 EH = m 3 E
[ 1438 959 95907 1959 19590 EE) = 6. m 3 E
[ 1439 959 95907 1959 19590 EH = 1.422.00 [ m 3 E
959 95907 1959 19590 R = 7.30[m E EX
959 95907 1959 19590 B = 930.00[m E EX
959 95907 1959 19590 B = 488.00[m E EX
959 95907 1959 19590 B = 949.00[m E EX
959 95907 1959 19590 B = 34.00] m E EX
959 95907 1959 19590 B = 1,082.00 [ mi E EX
959 95907 1959 19590 EE] = 990.00] mi 3 E
959 95907 1959 19590 EE = 17.00] m 3 E
959 95907 1959 19590 EH = 66.00|m 3 E
1 959 95907 1959 19590 EH = 55.00 | m 3 E
1450 959 95907 1959 19590 EH = 21.00[m 3 E
[ 1451 959 95907 1959 19590 EH = 106.00| m 3 E
[ 1452 959 95907 1959 19590 EH = 709.00 | m 3 E
[ 1453 959 95907 1959 19590 EH = 1,081.00[m 3 E
[ 1454 959 95907 1959 19590 EH = 1,108.00[m 3 E
[ 1455 959 95907 1959 19590 EH = 1,203.00[ m 3 E
[ 1456 73805-1 959 95907 1959 19590 L] = 869 m 3 E
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P #f LA 3805-3 S PFT L 73805-3 HE 959 95907 1959 19590701 = 17.00 i >27-EL 7B 1
L 7A3815-1 + i IL3815-1 38 959 95907 1959 19590701 = 2200 (EE TEEE 1
h$f L3827 =+ B ILR3827 ARFAERE 959 95907 1959 19590701 — 163. m HEER T BB ) 1
o 1510~ iz o 1510-2 2t 959 95907 1959 19590701 = 490.00 i (EE 2E 392
941 EE 9414 3@t 959 95907 1959 19590701 = 1 m (EE 3 B 1
! NEE 17432 + AT Eh/NER TS 1743-2 /A TR B B 959 95907 1959 19590701 = 4 m (EE BB
! MR 1772-2 + FRBTEh/NER T 1772-2 AR FLE B 959 95907 1959 19590701 = 24 m (EE BB
] NERPS1784-3 =+ CRETBL /R 1784-3 /52 FiE R 959 95907 1959 19590701 = 1 m HEES BB 1
il N 1974-4 + K8 959 95907 1959 19590701 = 4860 m BB 299,631
] NEEF3213-2 3 DAL HLAT 956 9570226 1956 19570226 = 7! m BB 489,21
fl NEEPS3213-2 K 956 9570226 1956 19570226 = 4672 TS 206,015
B & 73388 574 ch B 3L/ P PI 3884 /N ER B 959 95907 1959 19590701 = m E TS
B 733888 cRHSL/NER 733888 Sl 959 95907 1959 19590701 — m = TS
3 — thET188-12 AR ABE 959 95907 1959 19590701 = m E3 i)
P& 189— BT 189-3 ARMEE 959 95907 1959 19590701 — 117.00] mi = TS
P T 195~ B T195-3 ARAEE 959 95907 1959 19590701 — m = TS
P T 196 BT 196-2 ARAER 959 95907 1959 19590701 AT = m = T
P T 198 B T198-3 ARAEE 959 95907 1959 19590701 AT = m = T
P T 198 BT 198-4 NRFER 959 95907 1959 19590701 {E ) = 21.00[m = TS
BT 216~ BB T216-6 AR 959 95907 1959 19590701 EED = 21.00]mi EX T8
BT 216 CINE 959 95907 1959 19590701 AT = 30.00( = T
HET216-8 HBT 959 95907 1959 19590701 {E = 28.00] mi = TS
BB T217-5 HBT 959 95907 1959 19590701 {EE = 17.00] m = TS
[ BB T217-6 BT 959 95907 1959 19590701 EED = 70| m ES T8
[ BB T217-7 HET. 959 95907 1959 19590701 EED = m ES T8
[ BB T217-8 BT 959 95907 1959 19590701 L = 23.00[m ES BEL
1 FBT218 HBT 959 95907 1959 19590701 AT = 33.00[m ES TS
AET219-3 HBT2 959 95907 1959 19590701 AT = m = T
[ P& T 220— o T 202 B 959 95907 1959 19590701 L = 44.00|m ES BEL
i T E o 8733246~ % 959 95907 1959 19590701 AT = 51.00]m = TS
[ B & 793: o5 B 793246 23 959 95907 1959 19590701 AT = m ES TS
[ B & 793: o 793254~ 23 959 95907 1959 19590701 AT = m ES TS
i BB %3 o 6753271 % 959 95907 1959 19590701 AT = m = T
[ h B A3: B30T~ i3 959 95907 1959 19590701 EED = m ES T8
1 B o B 793302~ 23 959 95907 1959 19590 {EED = 216.00| m EX THEA
1 B o B 793303 23 959 95907 1959 19590 {EED = 138.00| m EX THEA
1 B o B 793304~ 23 959 95907 1959 19590 {EED = 00| m E3 (TE B
B o B 793306~ 23 959 95907 1959 19590 AT = 134.00] mi E3 T
1 B o5 B 793306~ 23 959 95907 1959 19590 EED = 1.34]m EX THEA
1 n th #3312 959 95907 1959 19590 BT = 488.00[m Ex T
1 B B 73313 3 959 95907 1959 19590 EED = 1.52|m EX TIEA
1 B o B 73319~ 959 95907 1959 19590 EED = 647.00]m EX THEA
1 B o B 73319~ 959 95907 1959 19590 EED = 50| m EX THEA
1 o 8733320~ 959 95907 1959 19590 AT = .00 m E3 T
1 o 8733321 959 95907 1959 19590 AT = 00[m E3 T
1 o 8733321 959 95907 1959 19590 AT = .00[m E3 T
1 o 8733321 959 95907 1959 19590 AT = .00 m E3 T
1 o 8733322~ 959 95907 1959 19590 AT = 00[m E3 T
1 o 733323~ 959 95907 1959 19590 AT = .00 m E3 T
1 o 8733324~ 959 95907 1959 19590 AT = .00 m E3 T
B o B 793325 959 95907 1959 19590 AT = 80.00] mi Ex T
1 o 873336~ 959 95907 1959 19590 AT = .00 m E3 T
1 o 8733327 959 95907 1959 19590 AT = .00 m E3 T
B o B 93343~ 959 95907 1959 19590 AT = .00 i E3 T
B o B 93344~ 959 95907 1959 19590 AT = .00 i E3 T
B o5 B 93345 959 95907 1959 19590 AT = .00] i E3 T
B o B 93346~ 959 95907 1959 19590 AT = 26.00] mi E3 T
B G 959 95907 1959 19590 AT = 14.00[m Ex Tt
T G 959 95907 1959 19590 EE = 71.00[m Ex T
T o 959 95907 1959 19590 EE = 40.00|m Ex T
T o 959 95907 1959 19590 EE = 25.00[m Ex T
T o 959 95907 1959 19590 EE = 635.00] m Ex Tt
T o 959 95907 1959 19590 EE = 579.00] m Ex Tt
hl o i3 959 95907 1959 19590 EE = 27.00{ m ES B
hl o i3 959 95907 1959 19590 EE = 55.00{ i ES B
hl o i3 959 95907 1959 19590 EE = .88 mi Ex T8t
hl o i3 959 95907 1959 19590 EE = 40.00[ i ES B
hl o i3 959 95907 1959 19590 EE = 12.00 i ES B
hl o i3 959 95907 1959 19590 EE = 41.00[ i ES B
hl o i3 959 95907 1959 19590 EE = .05 mi Ex T8t
hl o i3 959 95907 1959 19590 EE = 74.00{ m ES B
hl o i3 959 95907 1959 19590 EE = 84.00{ m ES B
h o 2 4 i3 959 95907 1959 19590 JEF = 73.00] E e
T o 959 95907 1959 19590 EE = 403.00] mi Ex Tt
T o 959 95907 1959 19590 EE = 83000[ m Ex Tt
h o 23 959 95907 1959 19590 IEE] = 77.00[ i E3 it
hl th 3 959 95907 1959 19590 BT = 80.00] mi E3 T
hl th 3 959 95907 1959 19590 BT = 46.00[m E3 T
PR R % 959 95907 1959 19590 BT = 2.00[ i E3 T
% 5733410~ i3 959 95907 1959 19590 EE = 7.00[ i ES B
P B 733411- o 8753411~ 3 959 95907 1959 19590 BT = 00] mi E3 T
P B 733412- oh 8753412~ 3 959 95907 1959 19590 {E = m E3 5
R 733413~ RoP B 73413-2 AR B 7 959 959071 1959 19590 3EE = m E ER
h B340 879342 i 959 95907 1959 19590 B 8 m E EX
B B, 733425 o B 73425 3t 959 95907 1959 19590 B = 3 m E EX
h 8734262 B 733426-2 NRFEEE 959 95907 1959 19590 B = m E EX
h B 734272 87334272 NRFAEE 959 95907 1959 19590 B m E EX
h 6734282 8 733426-2 NRFAEH 959 95907 1959 19590 B = m E EX
B 733438 o 573438 3t 959 95907 1959 19590 B = 5 m E EX
5, 733440~ o 5753440~ 959 95907 1959 19590 B = m E EX
B, P33441- B R3441- 959 95907 1959 19590 B = m E EX
R o 5, 793442 o B 753442~ 959 95907 1959 19590 B = 68.00] m E EX
R o 5, 793443 o B 73443 959 95907 1959 19590 B = 75.00] m E EX
R o 5, 753444 R o 8, 733444~ 959 95907 1959 19590 FE = 25.00] m E EX
B, 733445 o B 793445 959 959071 1959 19590 B = 45.00[m E EX
5, 733448 o B 73448 959 95907 1959 19590 B = 75.00] m E EX
B, 733449 o B 73449~ 959 95907 1959 19590 B = 55.00] m E EX
5,73 3450~ R o 2, 733450~ 959 95907 1959 19590 B = 2000] m E EX
BB, 733451~ o B R3451- 959 95907 1959 19590 B = 81.00] m E EX
B 733452 o B 3452~ 959 95907 1959 19590 B = 34.00] m E EX
B 733453 o B 73453~ 959 95907 1959 19590 B = 39.00] m E EX
B 733454 o B 73454~ 959 95907 1959 19590 B = 57.00] m E EX
8, 73 3456 o B 793456~ 959 95907 1959 19590 B = 22.00] m E EX
FB,713458 o B 73458 3t 959 95907 1959 19590 3EE = 952.00[m E EX
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1561 1R o 5 733469 S E: 469 23R FHE B 959 95907 1959 19590701 = 666.00 i FHEER B
1562 AR P 57934842 484-2 MR FIIERE 959 95907 1959 19590701 = 109.00 i Ex Bl
1563 iR A B 733759 759 MR FAE R 959 95907 1959 19590701 = 317.00|m Ex BB
1564 #R3k/ A7 1002-3 7310023 % 959 95907 1959 19590701 — 85.00] m ER TR
1565 53R/ AL 7995-14 79 959 95907 1959 19590701 = 92.00]mi Ex BB
1566 53R/ 79981 959 95907 1959 19590701 = 62.00]mi Ex BB
1567 959 95907 1959 19590701 = 72.00]mi Ex BB
1568 959 95907 1959 19590701 — 107.00m Ex BB
1569 959 95907 1959 19590701 — 1,182.00]m Ex BB
7 959 95907 1959 19590701 = 121.00[m ES BB
7 959 95907 1959 19590701 = 397.00[m ES TS
7 959 95907 1959 19590701 = 34.00] mi ES TS
7 959 95907 1959 19590701 = 1,01000m EX TS
7 959 95907 1959 19590701 = 58.00|m ES TS
7 959 95907 1959 19590701 = 41.00[m ES TS
7 959 95907 1959 19590701 = 41.00[m ES TS
7 959 95907 1959 19590701 = m EX T B
78 959 95907 1959 19590701 = m ES TS
79 959 95907 1959 19590701 = m ES TS
1580 959 95907 1959 19590701 = m E3 A
1581 959 95907 1959 19590701 = m E3 B
1582 959 95907 1959 19590701 = m ES TS
1583 959 95907 1959 19590701 = m ES TS
1584 959 95907 1959 19590701 = m ES TS
1585 959 95907 1959 19590701 = m ES TS
1586 959 95907 1959 19590701 = m ES TS
1587 959 95907 1959 19590701 = 10,00 ES TS
1588 959 95907 1959 19590701 = m ES TS
1589 959 95907 1959 19590701 = m ES TS
1590 959 95907 1959 19590701 = m ES TS
1591 959 95907 1959 19590701 = 1 m ES TS
1592 959 95907 1959 19590701 = 1 m ES TS
1593 959 95907 1959 19590701 = m ES TS
1594 959 95907 1959 19590701 = 90.00m ES TS
1595 959 95907 1959 19590 = .00 | m EX THEA
1596 959 95907 1959 19590 = .00 | m EX THEA
1597 959 95907 1959 19590 = 00| m EX THEA
1598 959 95907 1959 19590 = 00| m EX THEA
1599 959 95907 1959 19590 = 00| m EX THEA
[ 1600 959 95907 1959 19590 = 231.00]m EX THEA
1601 959 95907 1959 19590 = 56.00|m EX THEA
[ 1602 959 95907 1959 19590 = 290.00] m EX THEA
[ 1603 959 95907 1959 19590 = 33.00[m EX THEA
[ 1604 959 95907 1959 19590 = .91 | m EX THEA
[ 1605 959 95907 1959 19590 = 13.00]m EX THEA
[ 1606 959 95907 1959 19590 = .30 | m EX THEA
[ 1607 959 95907 1959 19590 = 82.00|m EX THEA
1608 959 95907 1959 19590 = 26.00[m EX THEA
1609 959 95907 1959 19590 = 19.00]m EX THEA
959 95907 1959 19590 = .30 | m E3 (TE B
959 95907 1959 19590 = .30 | m E3 (TE B
959 95907 1959 19590 = 29.00] mi Ex Tt
959 95907 1959 19590 = 60| m E3 (TI Bt
959 95907 1959 19590 = 23.00[m E3 (TE B
959 95907 1959 19590 = 46.00| m E3 (TE B
959 95907 1959 19590 = .91 | m E3 (TE B
959 95907 1959 19590 = 1,967.00 | m EX THEA
8 959 95907 1959 19590 = 64.00|m EX THEA
1619 959 95907 1959 19590 = 90.00[m Ex T E
[ 1620 959 95907 1959 19590 = 327.00] m Ex Tt
[ 1621 959 95907 1959 19590 = 76.00|m Ex Tt
[ 1622 959 95907 1959 19590 = 56.00 | m Ex Tt
[ 1623 959 95907 1959 19590 = 1.267.00| m Ex Tt
[ 1624 959 95907 1959 19590 = 599.00| m Ex Tt
[ 1625 959 95907 1959 19590 = 148.00 | m Ex Tt
[ 1626 959 95907 1959 19590 = 202.00] m Ex Tt
[ 1627 959 95907 1959 19590 = 125.00 | mi Ex Tt
[ 1628 959 95907 1959 19590 = 72.00[m Ex et
[ 1620 959 95907 1959 19590 = 142.00 | m Ex Tt
[ 1630 959 95907 1959 19590 = .30 | m Ex Tt
[ 1631 959 95907 1959 19590 = 118.00| m Ex Tt
[ 1632 959 95907 1959 19590 = .00 | m Ex Tt
[ 1633 959 95907 1959 19590 = .00 | mi Ex Tt
[ 1634 959 95907 1959 19590 = .00 | m Ex et
[ 1635 959 95907 1959 19590 = 193.00| m Ex Tt
[ 1636 959 95907 1959 19590 = 8381|m Ex Tt
[ 1637 959 95907 1959 19590 = 858 m Ex Tt
[ 1638 959 95907 1959 19590 = 7.63|m Ex Tt
[ 1639 959 95907 1959 19590 = 93| m Ex Tt
959 95907 1959 19590 B = 64| m ER T
959 95907 1959 19590 E = 43.00|m ER T
959 95907 1959 19590 EED = 15.00] m ER T
959 959071 1959 19590 3EE = m E EX
959 95907 1959 19590 B = m E EX
959 95907 1959 19590 B = m E EX
959 95907 1959 19590 B = m E EX
959 95907 1959 19590 B = m E EX
959 95907 1959 19590 B = m E EX
1 959 95907 1959 19590 EH = m 3 E
1650 959 95907 1959 19590 R = m E EX
1651 959 95907 1959 19590 B = 617.00[m E EX
[ 1652 959 95907 1959 19590 B = 864.00[m E EX
[ 1653 959 95907 1959 19590 B = 38.00] m E EX
[ 1654 959 95907 1959 19590 EE] = m 3 E
[ 1655 959 95907 1959 19590 EE = 36.00|m 3 E
[ 1656 959 95907 1959 19590 B = 132.00| m 3 E
[ 1657 959 95907 1959 19590 EH = 241.00]m 3 E
[ 1658 959 95907 1959 19590 EH = m 3 E
[ 1659 959 95907 1959 19590 EH — RS m 3 E
[ 1660 i K BRI 996 997033 1996 1997033 EH 5 A BRI A 160.00 | m 3 E
[ 1661 AL 1424-39 i K BRIt 996 997033 1996 1997033 EH 1 5 K E R R 46.00| m 3 E
1662 A AL 38 27K ALKt 959 959070 1959 1959070 EH 1 5 K E R R 441.76| m 3 E
| 1663 AEW1110-1 i R I 9 S B3 959 959070 1959 1959070 EH 1 5 K E R R 185.33 | m 3 E
664 AE L1424~ i 527K B ALK it 959 959070 1959 1959070 L] 5 5 K E R R 161.05| m 3 E




FE 2022 IF
AEES BE e Eﬂ%ﬁﬁiﬂa RERH HAFER MBFE WEEAR | HAMGEE | SUAMKLA BHRS | FEEE REEH L103 BMBIRERS MERS | DRSHE
[ 1665 P11 1424 ‘h g S 53 KB ALK 959 95907 1959 19590701 T /KB & T Bl at 7 m iE‘Sff/jv [EESEEY B
1666 SHf 959 95907 1959 19590701 BRKEERFRIRE m [EEREES BB
1667 X 959 95907 1959 19590701 —ERE 1 m m B
[ 1668 SH A H8EIY) 959 95907 1959 19590701 HEKES 27 m Ex BB
1669 il HBE I 959 95907 1959 19590701 57K 66.29] mi Ex B
7 il HBEIR) 959 95907 1959 19590701 1 5Kl m E BB
7 Rl FEEIKHh 959 95907 1959 19590701 57K 59.06] m E BB
7 R i ALKt 959 95907 1959 19590701 ABKE 7 m Ex Bl
7 Bl i it 959 95907 1959 19590701 57K 180.36 [ m E BB
7 E3 5 i St 959 95907 1959 19500701 | - kil 155.16[m Ex B
7 BRI~ 0T 234-1 BIEER. 997 9970925 1997 19970925 | i ZKiE 77.76|m Eg B
7 BT 312-1 BIRER 997 9970925 1997 19970925 | 5K 21373[m ES T8
7 AR BRI 2.675-1 i 014 20150331 2014 20150331 5 KE 497.95|m ES BEL
78 JII0Z1352-3 3 i3 959 19590701 1959 19590701 | = m ES T8
1679 EE AT O RTIOE E221 —12 3 B (53817 F i 7 20180303 2017 20180303 | = m ES TS 523,856
1680 RFRE[2142—2 FEHT RE72142—2 BLED—8 7 20180205 20 20180205 | = m ES TS
[ T68i rERa 76—4 FEHT SERA1976—4 BLEO—& 7 20170508 20 20170508 | = 16.00[m ES T8
[ 1682 FERA12—2 FEERFHRA12—2 5 2016092 20 20160923 | = 80.00m ES TS
683 R —24 FEH. 75—24 ARFB® 2016092: 20 20160923 |  : = 8.84[m Eg AT
1684 5 —26 I 75—26 LUtk 2016092 20 20160923 | = 49.00[m ES T8
[ 1685 KEd241 [Pl S R hiE THI<fF> 2020031 20 20200315 = 1| m EE B 914,050
[ 1686 kK "ﬁu — B A 2015033 20 20150331 | e ; = 231.05[m TR 13,863,000
1687 WJJHEZ 95 AR K S R 2 2 5 2015102 20 20151027 | 3 = 234.00[m TS 14,040,000
[ 1688 AREA R 1561—3 A MR KR T 1 977 19780331 19 1978033 & = 4472 m TRE | {TEEL 931,600
[ 1689 RETEL/NERPR1694—2 32 mzmmﬁmﬁm& 2014 20141125 2014 2014112! 5 —MRaE 292.37|m AT 52,626,600
[ 1690 A&/ 79684 FIKALEE 2001 20010425 2001 20010425 & /STE £ IVIES 686.37] m ES TS 89,228,100
[ 1691 A& /7684 F mgmfﬁ;kmgﬁ 2001 20010425 2001 20010425 & 3L 104.65| m ES TS 13,604,500
1692 7 031 ﬁﬁ%;kiéfz?imaxﬁt) 7 1997053 1997 19970531 & FEE IT)] m ES TS .975.000
693 PRIELET A F 762—1 B Al 5 8 7K 7 1978033 1977 19780331 & m ES TS 24,800
1694 BLUATAIL 1339 BUATA T 5 #K EE?K,E 7 1978033 1977 19780331 E m E3 BEL 1,026,104
[ 1695 AELL1110—1 SR B 4 2015032: 2014 20150324 | % m ES A 347.200
[ 1696 T/ R631—24 B 7 978033 1977 197803 b3 31.68|m ES TS 4,118,400
[ 1697 £/ K631—25 hil 7 978033 1977 197803 & 31.75]m ES TS 4,921,250
[ 1698 Tt/ A631—26. 628—2 B 7 978033 1977 197803 b3 78.43] mi ES TS 12,156,650
699 224 Rl B KERE S E 1 98203 1981 19820 3 15 00| m EX THEA 930,000
7 — 1R 527K 3 8 A 7 7803 1977 19780 3 7 L3 11.60[m Ex Tt 1.798.000
7 KR EIE B 7 7803 197 19780 E 15 50.00|m EX TIEA 7.750,000
7t B 7 7803 197 19780 & LE3i] 80.00[m EX THEA 10,400,000
7 155 R - 2E 5 5 KB A1 AR 7 7803 197 19780331 | & LE3i] 24| m EX THEA 291,200
7 7 9705 199 19970531 | & LE3i] 40| m THEA 64,335,343
7 1 98203 198 1982033 & LE3i] 10.25]m THEA 1,025,000
7 7 97803 1977 1978033 & LE3i] 03] m THEA 1,596,500
7 1 9911220 199 19911220 & THEA 1
7 7 998030: 199 19980304 & THEA 543,992
7 3 6 01703 201 20170 & [ES THEA 615,600
7 FEIRA “‘%E(EP BIEEX 2017 201803 201 20180 & 924 ~25-EL THEA 631,800
7 o B— #?%ﬁ&e' TKE AL T I — 2020 202004 2020 20200 & ~75-EL THEA 96,530,000
7 5= SERTASE RS (R 4 /N T OKSE R e T A — 2020 202004 2020 20200 & ~75-EL THEA 4,320,000
7 RS ERBRE AR T RERRF L 8— 2020 202004 2020 20200 & ~75-EL THEA 27,470,000
7 5z JOKPERTER 7 7103 7 710 & = 3 THEA 10,000
7 oz 7103 7 710 & = THEA 525,000
7 oz 7203 7 720 & = THEA 837,000
7 oz 7403 7. 740 & = THEA 730,000
718 oz 7403 7. 740 & = THEA 1,250,000
1719 oz 7503 7 750 & = THEA 630,000
1720 oz 1403 1 140 & = THEA 648,000
1721 oz 1403 1 140 & = THEA 300,000
1722 oz 79033 7 7903 E = THEA 285,000
[ 1723 79033 7 7903 & = T E 339,000
[ 1724 980 81033 1980 3 = Tt 922,000
[ 1725 015 15103 2015 3 = Tt 895,000
[ 1726 981 982033 1981 19820331 | & = Tt 814,000
1727 981 982033 1981 19820331 | & = Tt 467,000
[ 1728 982 983033 1982 19830331 | & = Tt 923,000
[ 1720 982 983033 1982 19830331 | & = Tt ,380,000
1730 986 987033 1986 19870331 | & = Tt 950,000
[ 1731 989 990033 1989 19900331 | & = Tt 686,000
[ 1732 989 990033 1989 19900331 | & = Tt 769,800
[ 1733 990 991033 1990 19910331 | & = Tt 910,780
[ 1734 992 993033 1992 19930331 | & = Tt 350,295
[ 1735 994 995033 1994 19950331 | & = Tt ,197.510
[ 1736 994 995033 1994 19950331 | & = Tt 494,020
1737 995 996033 1995 3 = Tt 954,300
[ 1738 996 997033 1996 3 = Tt ,196.350
[ 1739 996 997033 1996 3 = Tt ,989.450
997 998033 1997 3 = Tt ,247.980
998 999033 1998 & = Tt 460,650
998 999033 1998 & = Tt 490,050
999 2000033 1999 & = Tt 367850
200 2001081 200 & = Tt 796,500
200 2001081 200 & = Tt 883,150
200 20010905 200 20010905 & = Tt 891,550
200 20020331 200 20020331 & = 015,300
200 20011210 200 20011210 E = ,241,600
1 200 20010905 200 20010905 E = 1
1750 SR X [ 201 20120331 201 20120331 E = 342,650
1751 Eﬁkdaizsos—e IEZ _§1m 9'7— 201 20140328 201 20140328 E = E 518,850
[ 1752 2009 20100330 2009 20100330 E = E 425,850
[ 1753 El,inumrse 1 2010 20110315 2010 20110315 E = E 825,000
[ 1754 R/ T148 2011 20120221 2011 20120221 E = EX 809.264
[ 1755 AR/ 151-1 1992 19921222 1992 19921222 E = EX 721,200
1756 HER26-1 SR A 1992 19921130 1992 199211 E = E ,635.400
1757 5261 1T 1555 D o ) oy e 2003 20040 2003 200403 E = E 554,400
1758 B (V2 B ) F AR (REAE) 986 987 1986 198 E = E 805556
1750 BR/NER £ SRNVERR 986 987 1986 198 & = E 805,556
760 SR (2T FB a i (E2 ) 986 987 1986 198 E = EX 805,556
B B LR F T 986 987 1986 198 E = EX 805,556
D (ERF ) F FT) 986 987 1986 198 E = EX 805,556
=€ EY; 255 F ) 986 987 1986 198 E = EX 805,556
PENC I E R0y 7 EXTI0) 986 987 1986 198 E = EX 805,556
) (B2 BINER) BEg F Al J\-r-be) 986 987 1986 198 E = E 805,556
IEEFE BEg F5 IBMEIE 986 987 1986 198 E = EX 805,556
RACELEESE) BEg 75t (BT & EA930) 986 987 1986 198 E = EX 805,556
FIR/ R E T T F Eﬂﬂll\ (BRE ) 986 987 1986 198 EEE = E= 805,555




£ 2022] IF
AEES BE e MEBEEELHE HAFER MBFE WEEAR | HAMGEE | SUAMKLA HHRS | AHE REEH L103 BMBIRERS MERS | DRSHE
76! HHRGA AT 1275 iR 986 9870 1986 198701 TE#E; = FHEER B 805,555
771 o, T Jot 986 9870 1986 198701 E = E BB 805.555
77 B (KA 3E) 4275 I . R (S FTHHT) 986 9870 1986 19870 E = ES B 805,555
77: &5 (AFE) 4275 I B AFEE) 988 9881 1988 19881 E = ES BB 805,555
77: EEGBRE) 4275 I B BE) 988 9881 1988 19881 E =S EX BB 400,000
77 £ R1(BAGHBIEMR) 4275 I B (B & GBI 989 9891 1989 19891 E =S EX BB 400,000
77 AR2(EMF. BE) 4293 I B (EFF, BE) 989 989123 1989 198912 E =S EX BB .206,645
771 AT (B HAZR) 4277 I B HHBEH]) 991 9920228 1991 19920228 E =S EX BB .206,645
17 /Nt (IE S X AT) 4277 I B th (1B B 57 32 AT 992 993033 1992 199303 E =S EX BB ,900,610
778 S A2 I B SHE 997 9980 1997 199801 5 = E3 BB 163,000
1779 AR (CASDEA) Ewk T i3 SRR (. EA) 997 9980 1997 199801 E = ES TR 822,450
1780 53 (LG T8 R e 35) {273 T B E(LBE R TR 997 9980 1997 199801 3 = ES T 1822450
1781 RI(HERAE) B I i3 £ R3(HERHE) 997 9980 1997 199801 E = ES TR 822,450
1782 REf (JA) B I i3 E (JA) 986 9870 1986 198701 E = ES TR 822,450
783 D A CAED) B I B Y AGED)] 986 9870 1986 198701 E = EX TR 805,555
1784 iR /12 (BT P 45 A3 T B AR/N2 (BTE R ATAS R 997 9980 1997 199801 E = EX TR 805,555
1785 B OKS) B I i3 B OKS) 997 9980 1997 199801 E = ES TR 822,450
1786 G- B I B Py 995 996033 1995 199603 E = ES TR 822,450
1787 172 G B A 30T ) B I i3 EIAGGE ST 2004 2005033 2004 200503: & = ES TS 133,000
[ 1788 (REIB () B I i3 St (BER{TT) 1995 1996033 1995 199603 E = ES TR 499,250
1789 W2 GRS E e AT B I i3 SP2 G| 857 e (30 1986 1987013 1986 E = ES TR 1,133,000
79! B3 A3 T 23 BE3 2004 2005012 2004 E = ES TR 2,805,555
7 R A3 T )it 996 996040 1996 i3 = 21.000[ i E3 A 214,600,000
7 R A3 T 5 h 998 999033 1998 & = 6,000 mi ES TS 1
7 LI A3 T U783tk T2ik 998 999033 1998 E = 60,000] i ES TS 46,488,230
7 AL B I SR 1178 th 5B 78 - FRAIE #92A L 998 999033 1998 E = ES TS 557,840
7 AL B I =it 5K ER BUKIRER BIEIOvY 998 999033 1998 E = ES TR 12.776.940
7 AL A3 T F 73 998 999033 1998 E = ES TS 33,803,720
7 [ A3 T 2003 2004033 2003 E = ES TR 12,586,520
798 il B I = 2003 2004033 2003 E = ES TS
799 JE31I] 4273 T 5T B whElr—k 125%14 994 995033 1994 b3 = E3 A
1800 KB 4273 T BEAT JLRIFH 435% 1.1 994 995033 1994 3 = E3 B
1801 R B I RE1GEET L0578 38x18 992 993033 1992 & = ES T8
1802 AR 277 I ARF2AET HWEET—F 307077 995 996033 1995 E = E3 BEL
1803 EEIES] EPk T FAMB2BAE T HEfElr—F 2.0x0.75 99 995031 199 3 = EX THEA
1804 G5 1275 oz v X—HOKEE A1 OfE700 jra624 HJ)125KVA 99 995031 199 & = E3 (TE B
1805 o 1275 oz FoX—HOKE A2 Of£700 FtE624 th)125KVA 99 403 199 & = E3 (TE B
1806 o 1275 oz R K R 99 403 199 & = 682 EX THEA 61,796,000
1807 o 1275 oz Kt 99 403 199 & = 337. EX THEA 786.100
1808 o 1275 oz JKEEE 2:BOX 1:8BOX 99 403 199 & = I EX THEA 880,620
1809 o 1275 oz KBEFTT —F 99 403 199 & = EX THEA 610
& 1275 oz KR T8 99 403 199 & = EX THEA 600
o 1275 T kehRo T 99! 403 199 3 = Ex T EA 1 .000
o 1275 oz REE 99 403 199 E = EX TIEA 000
& 1275 oz SyTT 99 403 1993 & = EX THEA 400
& 1275 oz 969 003 1969 & = EX THEA ,080
SEH 1275 oz 956 5703 1956 & = 92.00[m EX THEA 100,000
SEH 1275 oz 956 5703 1956 & = 203.00] m EX THEA 275,000
1275 oz 930 3103 1930 & = 64.00|m EX THEA 200,000
8 SEH 1275 oz 952 95303 1952 & = 785.68[m EX THEA 333,914,000
819 S5 1275 oz 973 97403 1973 & = 297.00] m EX THEA 126,225,000
1820 1275 oz 972 97303 1972 & = 120.40 | m EX THEA .200,000
1821 1275 oz 982 98303 1982 & = 10| m EX THEA 050,000
1822 1275 oz 935 93603 1935 3 = .90 [m Ex Tt 457 500
1823 SR 1275 oz 2005 2005123 2005 E = .00 | m EX TIEA 075,000
1824 1275 oz 997 9980325 1997 & = 50| m EX THEA 112,050
1825 = 1275 oz 998 999022 1998 & = 53| m EX THEA 812,000
1826 1275 oz 934 935033 1934 E = 50| m EX THEA 600,000
[ 1827 4T3 955 956033 1955 & = .40 | m Ex T E 760,000
| 1828 ] Erb 967 968033 1967 3 = 40| m Ex Tt 360,000
1829 ] Erb 955 956033 1955 3 = 55| m Ex Tt 820,000
[ 1830 ] Erb 955 956033 1955 3 = 00| m Ex Tt 600,000
[ 1831 ] Erb 955 956033 1955 3 = 95| m Ex Tt 180,000
1832 ] Erb 955 956033 1955 3 = 23| m Ex Tt 092,000
| 1833 ] Erb 955 956033 1955 3 = 64| m Ex Tt ,256,000
1834 Erb 955 956033 1955 3 = .40 | m Ex Tt 160,000
[ 1835 Erb 955 956033 1955 3 = 00| m Ex Tt 21,600,000
[ 1836 Erb 991 992031 1991 1992031 & = 25| m Ex Tt 700,000
[ 1837 Erb 993 9930906 1993 19930906 & = 80| m Ex Tt 13,520,000
[ 1838 Erb 948 949013 1948 19490131 | & = 77| m Ex Tt 508,000
[ 1839 Erb 951 952033 1951 19520331 | & = 70| m Ex Tt 680,000
Erb 958 959033 1958 19590331 | & = .40 | m Ex Tt 160,000
Erb 955 956033 1955 19560331 | & = 64| m Ex Tt 24,656,000
Erb 955 956033 1955 1956033 & = 35| m Ex Tt 10,140,000
Erb 969 9690430 1969 19690430 & = 68| m Ex Tt ,072.000
Erb 969 9690430 1969 19690430 & = .20 | m Ex Tt ,280,000
Erk 955 9560331 1955 19560331 & = 20| m Ex Tt 880,000
Erb 973 9740331 1973 & = 350 m Ex Tt 400,000
Erb 956 9570331 1956 19570331 & = 4.08 | m Ex Tt 13,632,000
Erb 978 9790228 1978 19790228 & = 419 m Ex Tt ,676.000
1 Erb 979 9790831 1979 19790831 & = 50.00|m Ex Tt 25,000,000
1850 Ek 981 9820331 1981 19820331 & = 16.00] m Ex Tt ,400,000
[ 1851 E 974 9750331 1974 19750331 & = 22.00] m E EX 800,000
1852 A2T5 985 9860131 1985 19860131 E = m E EX 400,000
[ 1853 A2T5 995 9960325 1995 19960325 E = m E EX 000,000
1854 A2T5 964 9640430 1964 19640430 E = m E EX 32,560,000
[ 1855 A2T5 955 956033 1955 19560331 E = m E EX 11,572,000
| 1856 A2T5 982 983033 1982 19830331 E = m E EX 188,000
1857 A2T5 985 986033 1985 19860331 E = m E EX 480,000
[ 1858 A2T5 980 81013 1980 19810131 E = m E EX 16,640,000
1859 A2T5 969 70033 1969 19700331 E = m E EX 560,000
[ 1860 A2T5 956 57033 1956 19570331 E = m E EX 400,000
[ 1861 A2T5 970 71033 1970 19710331 | & = m E EX 432,000
1862 e 969 70033 1969 19700331 | & = m E EX 275,000
[ 1863 A2T5 974 74123 1974 19741231 & = m E EX 516,000
1864 A2T5 959 960033 1959 E = m 3 EX 400,000
[ 1865 A2T5 969 970033 1969 19700331 | & = 18.94m E EX 576,000
[ 1866 A2T5 4 975033 74 19750331 | & = 46,67 m E EX 18,668,000
1867 A2T5 9 980033 79 19800331 | & = m E EX 28,668,000
1868 A2T5 6 77033 76 19770331 | & = m E EX 600,000
[ 1869 A2T5 a2 7 78033 77 19780331 | & = m E EX 332,000
870 A2T5 a2 4 75033 74 19750331 E = m E EX 11,360,000
871 A2T5 a2 993 940320 1993 19940320 E = m E EX 12,000,000
872 BLEE R1SHH {25 32 971 720331 1971 19720331 & = m E EX 720,000




2022 IF
BE e MEBEEELHE RERH HAFER MBFE WEEAR | HAMGEE | SUAMKLA BHRS | FEEE REEH L103 BMBIRERS MERS | DRSHE
NATRE R 423 = & 1 972033 1971 197203 T — 00[m S-EL R 600,000
N ADYH 4277 I 1 972033 1971 197203 E = 30 m Ex Bl ,320,000
4275 I 7 988033 1987 198803 E = 00]m Ex B 600,000
4275 I 1 962033 1961 196203 E = 68[m Ex Bl 472,000
4275 I 1 962033 1961 196203 E = 04]m Ex Bl ,816,000
A3 = 992 992113 1992 199211 b3 = 98[m Ex B 20,792,000
A3 = 994 994101 1994 199410 b3 = 00[m Ex B 24,400,000
Ewk = 934 935033 1934 193503: b3 = 32[m Ex B 32,928,000
Ewk = 955 956033 1955 195603: b3 = 98[m Ex B 192,000
4273 = 987 988033 1987 198803: b3 = 1481]m Ex B .924.000
Ewk T 976 977033 1976 197703 E = 1368 ES TS 472,000
A3 T 970 971033 1970 197103 & = 72| ES TS 288,000
A3 T 955 956033 1955 195603 & = 72| m EX TR 888,000
A3 T 97 978123 1978 197812 b3 = m EX TR 880,000
A3 T 96! 964031 1963 196403 & = m ES TS 200,000
A3 T 96! 964031 1963 196403 & = m ES TS 796,000
A3 T 98 982033 1981 198203 & = m ES TS 700,000
A3 T 96 9640430 1964 19640430 b3 = m ES TS 200,000
4273 T 955 956033 1955 195603 & = m ES TS 400,000
4273 T g 970 971033 1970 197103 & = m ES TS 480,000
A3 T 955 956033 1955 195603 & = m ES TS 140,000
A3 T 18 961 962033 1961 196203 & = m ES TS 480,000
4277 I il 011 2012033 2011 201203 E = m E3 BEL .652.000
A3 T 972 973033 1972 197303 b3 = m ES TS 584,000
A3 T 998 998113 1998 199811 b3 = m ES TS 168,000
A3 T FENTSE 9 950033 1949 195003 & = 15.15[m EX TR ,060,000
4277 2 AL EN2EHE 0 971033 1970 197103 E = m E3 BEL ,264.000
A3 T TEB 4 935033 1934 193503 & = 2030]mi ES TS 120,000
A7 T 7 97123 1997 199712: E = 2 m E< A .600.000
BEE] A3 T 4 45033 1944 194503 b3 = 8064 m ES TS 34,272,000
T BT M EF 4R 2.604—1. 605—1 ~ EVIR/ N\ A B 2,828 4273 T 4 45033 1944 194503 & = 2,381.00] mi E3
BFIRIEY 7 712704~ & HELLI655-1 4273 T 4 45033 1944 194503 & = 3,680.00| m E3
AP iR 0547 ~ A1 3 — A#21207-10 4273 T 966 67033 1966 196703 & = 1,186.00 [ m E3
AT 11 19— 1~ FUE BT A 1119-1 4T3 T 966 67033 1966 196703 E = 424.00[m E3
RER31-1 ~ ERIR o> /R R917-9 1275 oz 49 95003 194 19500 3 = 111,00 m Ex 7
R A 112,326~ FHARAA £.2.327-3 1275 oz 1 97203 197 19720 & = 586,00 [ m Ex 7
+72 39 Z.1500- 01~ EHR B A | 2.3024-1 1275 oz S 7 95803 195 19580 & = 122300 m EX 3
EFR {1 2.2002~ & R AL 116351 1275 oz KF 2 97303 197 19730 & = 562.50 | mi Ex 7
BB D AK499-3~ A 1 KT B 1226-1 W 1275 oz 8 7 97803 197 19780 & = 150,00 [ mi Ex 7
A9 = X 1007~ iR 4 R FAEE 1650 | | 1275 oz AR 87 98803 198 19880 & = ,808.00 [ mi Ex 7
£ 3] P9 = 7 25 1205-1 ~ 8 9 — A A1 207-~ 1275 oz R 982 98303 1982 19830 & = 220,00[m Ex 7
B A @ LU609-9 ~ s F9F N1 1102-6 1275 oz A1 S e 982 9830317 1982 19830 & = 2,176.00] mi Ex 7
ST P A 68 ~ ST P 7 I 38 319~ EPP oz 25 8 982 9830317 1982 19830 & = 686.40[m Ex T
SARF A EF24-104~ AN F A1 1275 oz Ry ] 982 9830317 1982 19830 & = 187.10] mi EX TIE 470,
BEFE /61 ~ AN FRAE 24 1275 oz 45 86 985 9860318 1985 19860 & = 493.10[m Ex T 226
ST SR 10711~ ] N F 5 R R 404— 1275 oz Fo S 8 982 30317 1982 198: & = 392.00] m EX THEA 35,598,800
A AR 1201~ B ﬁ%ﬁemumoa A 1275 oz 1 982 30317 1982 198: & = 486.20| m EX THEA 16.497.600
o A 120-2~ B A T AR A 120-48 1275 oz 2 982 30317 1982 198: & = 95.90|m EX THEA .726.200
FERER ORI~ ,ﬁ;ﬁ{uﬁno 44 1275 oz 3 982 30317 1982 198: & = 57.00] mi EX THEA 1026,000
B 1275 oz 4 982 30317 1982 198: & = 130.60 | m EX THEA 622,800
) B ;muxeze 2 1275 oz 5 982 30317 1982 198: & = 373.60|m EX THEA 881,600
) L 1275 oz EG 982 30317 1982 198: & = 158.90 | m EX THEA 860,200
) 1275 oz i 982 30317 1982 198: & = 162.80] mi Ex Tt 930,400
EEE 1275 oz chiT 982 30317 1982 198; 3 = 77.60] mi Ex T 396,800
EJ EETIEE 1275 oz chT. 982 30317 1982 198: & = 103.20] mi Ex T 857.600]
B B 5488~ ) 1275 oz chT 982 30317 1982 198: & = 6.30 | m Ex T 653.400]
B o7 PR B 505-2~ B 1275 oz FRHT 982 30317 1982 198: & = 144.30] mi Ex T 2.597.400
B 7 B 546 ~ B 7 2 AT 1275 oz FEHT2 982 830317 1982 198303 E = 60| m EX THEA 694,800
1 ST F B  97-1 ~ 5] N F B = 104-3 4T3 FEHT3 982 9830317 1982 198303 & = 17850 | m Ex T E 3213,000
1 SR B 073~ A N BB 091 Erb FaHT4 982 9830317 1982 198303 & = 70| m Ex Tt 1,182,600
1 ST B 55 882 ~ I I 7 AR 5 96 Erb FEHTS 982 9830317 1982 198303 E = .30 | mi Ex Tt 1,085.400
1 K #3562~ B F KA 555 Erb FEHI65: 982 9830317 1982 198303 & = 40| m Ex et 280,000
1 K #5552~ BEF KA 565 Erb FH[ 751 982 9830317 1982 198303 & = 450 [ m Ex Tt 801,000
1 AEHEE 141~ FREE104-10 Erb e 982 9830317 1982 198303 & = 514.00]m Ex Tt 604,800
1 A Erb FIX 982 9830317 1982 198303 & = 107.40 | m Ex Tt 1963600
1 A Erb 7IX: 982 9830317 1982 198303 & = 61.10|m Ex Tt 1099800
1 A Erb 7IX: 982 9830317 1982 198303 & = 102.10| m Ex Tt .837.800
A Erb 7YX 982 9830317 1982 198303 & = 2.80 | m Ex Tt 907.200
A Erb 7YX 982 9830317 1982 198303 & = 7.50 [ m Ex Tt 675,000
A Erb 7YX 982 9830317 1982 198303 & = 126.30 | m Ex Tt 2.273.400
Erb FIX 982 9830317 1982 198303 & = .80 | m Ex Tt 992.400
B Erb 7YX 982 9830317 1982 198303 & = .50 | m Ex Tt 351,000
B Erb 7YX 982 9830317 1982 198303 & = 2920 m Ex Tt 525,600
Erb 5 982 9830317 1982 198303 & = 8270 m Ex Tt 488,600
Erb 982 9830317 1982 198303 E = 34040| mi Ex Tt 140,400
Erb 982 9830317 1982 198303 E = 392.40| mi Ex Tt 104,400
1 Erk 982 9830317 1982 198303 E = 61.00|m Ex Tt 1098000
1 Erb K5 982 9830317 1982 198303 & = 188.00 | m Ex Tt ,258,000
1 Erb E6S 982 9830317 1982 198303 & = 192.20 | m Ex Tt ,276.000
1 Erb ETS 982 9830317 1982 198303 & = 188.60 | m Ex Tt ,250,800
1 Erb KBS 982 9830317 1982 198303 & = 185.80 | m Ex Tt ,207.600
1 Ek K9 982 9830317 1982 198303 & = 12350 | m Ex Tt 079,000
1 E 982 9830317 1982 198303 & = 169.70 | m E EX 932,200
1 A2T5 982 9830317 1982 198303 E = 203.70| mi E EX 666.600
1 A2T5 982 9830317 1982 198303 E = 245.30| m E EX 433,800
1 A2T5 982 9830317 1982 198303 E = 55.60|m 3 EX 1,000,800
1 EF A2T5 45 982 9830317 1982 198303 E = m E EX 813,600
1 ARF A2T5 5E15% 982 9830317 1982 198303 E = m E EX 1,629,000
1 RF. A2T5 Al 982 9830317 1982 198303 E = m 3 EX 1,143,400
1 RF. A2T5 2 982 9830317 1982 198303 E = m E EX 981,000
1 RF. A2T5 i3 982 9830317 1982 198303 E = m E EX 1,656,200
1 RF. A2T5 hta 982 9830317 1982 198303 E = m E EX 966.600
1 F A2T5 5 982 9830317 1982 198303 E = 1 m E EX 2,086,200
1 F e 68 982 9830317 1982 198303 E = 42060| mi E EX 7.595.200
1 L2631 A2T5 TS 982 9830317 1982 198303 & = 106.30 | m 3 E 1,913,400
1 252 A2T5 e 982 9830317 1982 198303 E = 2460 | m E EX 800
1 £306 A2T5 9 982 9830317 1982 198303 E = 7840 | m 3 E 1,411,200
3L278 A2T5 it 1 982 9830317 1982 198303 E = 80.40] mi E EX 1.447.200
3£291 A2T5 D] 982 9830317 1982 198303 E = 37.60] m E EX 800
3231 A ISAE: OS] 982 9830317 1982 198303 E = 198.40 | m 3 E 3571.200
1330 A ISEE: L 1358 982 9830317 1982 198303 E = 85.60| m 3 E 1,540,800
A ISEE: L BB KR 982 9830317 1982 198303 E = 803.10| m 3 E 31,769,000
3L ‘Im”‘ﬁﬁzmmsu 2 A ISEE: L 1l] 982 9830317 1982 198303 E = 1.150.70 | m 3 E 24,274,600
A & RA1402~ AR E F H360-2 A ISEE: T BB 982 9830317 1982 198303 E = 524.30| mi E EX 68.306.800
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7 o, 52 982 9830317 1982 198303 T — 63.90[m S-EL T 150,200
7 Ewk = 982 9830317 1982 198303 E = 125.00[m E T 250,000
7 423 = 982 9830317 1982 198303 & = 343.10]m E T .175.800
7 P, T 982 9830317 1982 198303 - — 81.20[m Ex TS 461,600
7 B, T 982 9830317 1982 198303 = — 60.10[m Ex TS 081,800
7 = B, T 982 9830317 1982 198303 - — 92.00m Ex TS 1732400
AT RERO14-2~ ARF A ELLI1366-1 {273 T b 982 9830317 1982 198303 - — 2.466.20[ m Ex TS ,408.200
AT A 8014377 ~ & 5 % 111635-7 {273 T 987 9880330 198803: - — 757.90] m Ex TS 831,600
7% 1LI635-21~ & R+ AF925 {273 T o 982 9830317 198303 E = 5,854.50] i ER B 134,831.800
F T )£ 578-3~ & R F A %5453 4275 I 982 9830317 198303 E = 1.317.00[ i ES T .076.000
F T B89~ 2 R I AL136-1 Ewk T 982 9830317 198303 E = 329.80[m ES TS ,936.400
FE 8512~ 5 R ALI1108-1 A3 T 982 9830317 198303 & = 84.50] mi ES TS 521,000
F B E537-3~ % RFMNAI53 A3 T 982 9830317 198303 & = 295.80[m ES TS 592,800
F LR 80~ ERF ERFE19-1 A3 T 982 9830317 198303 & = 80.40] i ES TS 1447200
FRIAL 1391~ & RFRA147-2 B, T 982 9830317 198303 & = 76.20] mi ES TS 371,600
FRAL137~ & RF 11582 A3 T 6 982 9830317 198303 i3 = 168.50] mi E3 i) ,033.000
FRB)Es 15~ 4 RF & /3483 A3 T ERTS 982 9830317 198303 & = 184.30] mi ES TS 317,400
7T B)E503~ £ HFEHIR A6 A3 T = 982 9830317 198303 i3 = 155.80] mi E3 A 832,400
FERA 123~ ~22 4273 T = 985 9860318 198603 3 = 57.90] mi E3 B .108.200
Fig /7 26-2~ & RFILL 4273 T ER105 985 9860318 198603 & = 7.70[m ES TS 12,549,000
FALL0756-3~ 2 R k1L A3 T ERIS 985 9860318 198603 & = 7.50[m ES TS 215,000
53 7 J¢111635-45~ & 5 7 B|11655-6 A3 T ERK 965 966033 196603 & = 2 m ES TS 63,028,400
BFiET A AELI0-1~HBT A ARII10-1 A3 T SR 965 966033 196603 & = m EX TR 306,600
RFEAEFTT-5~ARAFAEF1116-4 1275 g T7IX105 8 965 966033 196603: 5 = m Eg AT 652,400
S ARGRAT 18117~ FkF 7%/ F176-13 A3 T K656 965 966033 196603 & = m ES TS 601,200
EF S IR 128 8~ E R TS IRI131-1 B, T EITS 1 965 966033 196603 & = 1 m ES TS 454,600
PRI 746-2~ FIR 715 /7 )92729-1 B I LEE(LE] 998 999031 199903 & = 7 m ES TS 127,888,000
RFE /P 17761 ~ B[N T & /P3684 A3 I B/ B8 998 999031 199903 & = 492.40[m ES TS 20,974,200
PRI F A LI 1 385~ 5ol P o7 FR AT P LLIGGB—1 A3 I RIS 965 966033 196603 & = 68.20|m ES TS 227,600
REF/NIR 1100-4~ AR /111 1099-2 A3 T AIRBE S 965 966033 196603 b3 = 138.00] mi E3 A 484,000
ERFE R #676-3~ 4 H ¥ & R #576-3 4273 T ER12EHR 982 98303 198303 & = 158.20] mi ES TS 641,800
IR A1A3211-2~ iR T Er8hp93211-32 4273 T SFATOE 982 9830317 198303 & = 712.10]m ES TS 13.317.400
SR FIE Y R2125~ B 38 2 73122-9 4273 I EEIE 982 9830317 198303 & = 474.80]m ES TS 961,200
EFiR R /IR P93077 ~ AR P/ & F923-1 4T3 I HiRI5HE 985 98603 198603 E = 1,667.60|m EX TR 57,506,000
BT/ R 16: I E 5498-2 1275 oz RIS HE 985 98603 19860 3 = 2.192.80|m EX THEA 56,551,400
BF1RF ) \BE /F 221 HRFI £ 72410-3 1275 T RAE-:] 985 98603 19860 & = 688.90| m EX THEA 24,319,800
ST E/ AR2206-1~FIRT B/ B7R2229-2 1275 oz 25 985 98603 19860 & = 173.10| m EX THEA 115,800
5 7 72304 72439-4 1275 oz 3SR 982 303 198: & = 439.70| m EX THEA 849,000
S Pl NEPI3015-4 1275 T BG5S 982 30317 198; 3 = 4580 m EX T EA 824.400
[ & EPP T B/ E25:! 982 30317 198: E = 281.90| m EX TIEA ,290.200
[3ZiE B EPP T RET A 982 30317 198; & = 890.70[m EX THEA 20,641,800
GEiE 7 EPP oz L1545 982 30317 198: & = 80.30[m EX THEA 181,000
GEiE 7 1275 oz HE2 S5 982 30317 198: & = 8470 m EX THEA 524,600
GEiE A 1275 oz ELRE ] 982 30317 198: & = 269.00] m EX THEA ,316.200
GEiE A 1275 oz HET4S 15 982 30317 198: & = 81.30|m EX THEA ,898.000
GEiE A 1275 oz ELiEe ] 982 30317 198: & = 44.50| m EX THEA 801,000
EFIRS = 1275 oz WETGE 48 982 30317 198: & = 86.60] mi Ex Tt 1,558,800
GEiE A 1275 oz SET 75 982 30317 198: E = 5540 m EX TIEA 997.200
GEiE LEP1920-1 1275 oz ELi ] 982 30317 198: & = 129.20 | m EX THEA 2.284.200
EFIRS F T #%2306-14 1275 oz HETOS 5 982 30317 198: & = 7.90 | m EX THEA 682,200
GEiE FYJ/2315-2 1275 oz BT 1054 982 30317 198: & = 170 m EX THEA 732,600
EFIRS B 823254 1275 oz BT 115546 982 30317 198: & = .30 | m EX THEA 779.400
BHRF LT 2 731919~ B IRF /£ / T P32480-1 1275 oz AL 982 30317 198: & = 332.90| m EX THEA 036,600
EARFIL R Z 751007 ~ EARF R BT sh/INER S 1727 1275 oz 2 982 30317 198: & = 384.70| m EX THEA 865,800
[ R B 5h/NEE P 1754 1275 oz A3 982 30317 198: & = 21850|m EX THEA ,933,000
5 AT 14681 1275 oz AR 982 30317 198; 3 = 583.30[m Ex Tt 12.574.000
5 U A E 7514291 1275 oz 58 982 30317 198: & = 254.60[m Ex T 568,600
B340 = chHT ) /1\PB 9 1686 ~ $74R = cHBT 8 /1\EE P9 1692 1275 oz 6 982 830317 198303 E = m EX THEA 864.400
P31655-4~ EHRF 2/ \ 31656 4T3 b 982 9830317 198303 & = m Ex T E 734,400
BT8h /B 1705~ EFAR. 1 Erb b 982 9830317 198303 & = 1 m Ex Tt 2.966.400
BRF R/ LR1584- 150 bE /£A1584] Erb b 982 9830317 198303 & = m Ex Tt 642,600
R F R 1618-3~ FIRF I/ /L 731585-12 Erb b 982 9830317 198303 & = 60| m Ex Tt 1101600
1R o 41 5 33846 Erb 982 9830317 198303 E = 377.80| mi Ex Tt .875.600
FAE 1296 Erb 45 982 9830317 198303 E = 655.40| mi Ex et 12.709.800
RFESOAA F271-2 . i 982 9830317 198303 E = 1.113.90m Ex Tt 56.112.800
HRFRHEF921-16 Erb 7 982 9830317 198303 & = 196.80 | m Ex Tt ,708.400
10~ B R FAR#EF921-18 Erb EfR 982 9830317 198303 & = 6.40 | m Ex Tt 23,608,000
RFILA/AFI217-2 Erb £ 982 9830317 198303 & = 1.90[ m Ex Tt 12,294,600
RFE LR Erb ] 982 9830317 198303 E = 1.40 [ m Ex Tt ,339.600
BFEA/TAN0 Erb ] 982 9830317 198303 E = 7.80 | m Ex et 11,579,000
B IRF /N5 1038-1 . i 982 9830317 198303 & = 32.00[m Ex Tt 587,200
SR F ik /79991 ~ EFARF It/ 01 R915-1 Erb SEL) 982 9830317 198303 & = 380.20| m Ex Tt 6.856.800
SR AR /A1 PI695-1 ~BpIRF £ X JAPI618-2 Erb & 982 9830317 198303 & = 325.30|m Ex Tt 30,438,400
EFIRFHER819-3~ EFAR T 5377 £ PI896 Erb £ 982 9830317 198303 & = 91.00[m Ex Tt 1,638,000
BRF ¥/ FAP871-1~EiRF =/ T 279868 Erb £ 982 9830317 198303 & = 40,60 | m Ex Tt 730,800
SR F ¥ / R 23880~ B AOR422-1 Erb £ 982 9830317 198303 & = 465.70| m Ex Tt 8,631,000
SH1RF[E] / 5379386~ EFARF £ R pI357-1 Erk £ 982 9830317 198303 & = 223.60|m Ex Tt 4,028,800
SR B 3571~ FARF N\ T A F 1052 Erb 982 9830317 198303 & = 2,001.70| m Ex Tt 41,942,200
E7AR R P {41 A 406-5~ B R F X /F F1685-1 . 982 9830317 198303 & = 307.40|m Ex it 721,600
EF4R 7 AT 7 632~ B IR OB T1615-01 Erb 982 9830317 198303 & = 130.80 | m Ex Tt 938,200
EIRF Y F I3~ HIRFT U /L Erb 982 9830317 198303 & = 396.50| mi Ex Tt 215,800
EFARF R P41 A I 408-1 ~ BB T R 524 435 . 982 9830317 198303 & = 328.30|m Ex it .934.200
F R A H414- 1~ HIRFEIH/\FH998-4 E 982 9830317 198303 & = 104.40 | m 3 E .879.200
B o F1345— 1 ~ BPiRFES//\J F295-1 A2T5 982 9830317 198303 E = 339.10| m 3 E 849,800
FES/NF F278~ EARR/ AT 1 10-/\-3 A2T5 982 9830317 198303 E = 2356.30| m 3 E 151,255,400
P07 234-3~EARFIHORIT] A2T5 982 9830317 198303 E = 382.40|m 3 E 10.961.200
FAEHAL T312-1~BPRF,E48L 1301 A2T5 982 9830317 198303 E = 370.10] m 3 E 661,800
Eh B T21 33 BT188-1 A2T5 985 9860318 198603 E = 302.80| mi 3 E ,355.200
IR/ AT T 00—/ \~ERF IR AL 117 A2T5 985 9860318 198603 E = 62040|m 3 E 11,564,800
7RI T 2991~ BT IR L LI T 299-1 A2T5 982 9830317 198303 E = 2438.00| m 3 E 51,059,800
FHRE 4983~ BHIR T & /5 /Fap3132-2 A2T5 982 9830317 198303 E = 1.290.00[ m E EX 33,067,000
P& /BIP5 A2T5 982 9830317 198303 E = 97.40[m E EX 753,200
FE/8/FR105-1 ~ BT S/ B/ FE0T A2T5 982 9830317 198303 E = 100.10 mi 3 E 1801800
7 AL/ 1262~ B4R 5 & B 693-6 e 982 9830317 198303 E = 43.20 | m 3 E 508,800
BHRF £ T 2.131-1 A2T5 982 9830317 198303 & = m 3 EX 11,670,200
4701 A2T5 982 9830317 198303 E = m E EX 12,452,800
BF4RF 01175 2.495 A2T5 985 9860318 198603 E = m 3 E 171,200
4R 75 2.355-2 A2T5 982 9830317 198303 E = m E EX 326,000
221491~ iR, A2T5 982 9830317 198303 E = 1. m 3 EX 34,616,000
21351~ HiRF1E: A2T5 982 9830317 198303 E = 1. m E EX 26.841,600
EHRF A 21434~ FIRT = A2T5 a2 985 9860318 198603 E = m E EX 600,400
BHRF)I| 0 21353~ R F o A2T5 a2 982 9830317 198303 E = 2012.90| m E EX 36.304.200
EFARFIE 21907~ iR FaLll B, =2 HEHEER 982 9830317 198303 E = 72.10 | m E EX 12.097.800
EFARFIE 2.1904-3~ BR[| B, 52 HBHEH 982 9830317 198303 & = 83.80|m 3 E 527,200
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2081 TRF 07,1867 ~ BFAR T [ Z.1897 423 = 985 9860318 1985 198603 Ea; = 8390 m S-EL R 552,200
2082 RFXOBH180-2~FIRFXOS 4277 I 985 9860318 1985 198603 E = 15010 Ex Bl 801,800
2083 AR PP A B 7 1407-3~ | m-?lﬁ R 1445-1 4275 I 985 9860318 1985 198603 3 =S 166.20[ i ES B ,828.800
2084 TRFEHZ 63 il 4275 I 987 9880330 1987 198803 E = 279.80|mi Ex Bl 172,800
2085 Rt 701~ 8 i-—ﬁt/ﬁzum B, = 987 9880330 1987 198803: b3 = 57.60[m Ex B 1048400
2086 HRFT 2 R241 {RF &/ E 792466 4275 I 987 988031 1987 198803 E = 22360 m Ex Bl 858,800
2087 AR G 9 1382-1 ~ B AR F G5 A 79 1382-16 4275 I 965 966033 1965 196603 3 = 42.70]m ES BB 768.600
2088 RFE /8224 BIRFE /52236 4275 I 965 966033 1965 196603 E = 77.20[mi ES BB 1.394.800
2089 AR AT 2 793608 ~ B4R F A A 1 793619 4275 I 965 966033 1965 196603 E = 159.30| i ES BB 2.911.000
2090 ARF R 0302~ BRF YIS /N F B 1143-4 4275 I 965 966033 1965 196603 E = 1.4 m Ex Bl zs 590,000
2091 R 752437-4~ E51R 32437~ B, T 965 966033 1965 196603 E = 1 m EX TR 4,394,800
2002 1R 732437-4~ B3R 32437 A3 T 965 966033 1965 196603 & = m EX TR .097.800
2093 1R 792242-4~ EF4R 7922474 B, T 965 966033 1965 196603 & = m ES TS 132,200
2004 HRF R 2266-1 ~FFIRF RZ 281 A3 T 965 966033 1965 196603 & = 114.90] mi EX TR 013,000
2095 R 7326061~ E74R 326011 A3 T 996 996040 1996 19960401 i3 = 99.60] mi E3 i) 17.239.000
2096 R F 7L Z 2850-8~ B4 7 7 LI £ 2850-6 A3 T 998 999031 1998 19990315 & = 121.90] mi ES TS 194,200
2097 1R 79 2,38 PR F 5 2379 A3 T 998 999031 1998 199903 & = 5050 m ES TS 111,000
2098 R A32176-27 ~ B iR F B /N E PI2192-1 B, T 965 966033 1965 196603 & = m ES TS 258,200
2099 RF A & 7905211 ~ GAR T A8 EP32521-10 4273 T 965 966033 1965 196603 & = 1 m ES TS ,272.200
HRFBHZ 5411~ FARF P75 2513 4273 T 965 966033 1965 196603 & = 1 m ES TS 455,600
ARF RAT 92168~ EFIRFRAT 3211 4275 I 015 2016020 2015 20160201 IE! = 1 m ES BEL 454,600
EHD A3 T HE5200~1000kg_&1&_2.280m3FEA 987 988033 198 198803 E = TS 400,000
T A3 T 4mXET S 40{E 2560m 987 988033 198 198803 E = TS 266,000
3] A3 I A (BAE) 18 3000m 987 988033 198 198803 E = TS 293 000
BT 3] A3 T EAMAE YR YT 1K 987 988033 198 198803 E = TS 198,000
R A3 T ﬁﬂaié‘émﬂ(éima{ﬁs&%omk) 1= 987 988033 198 198803 E = TS 190,000
EAT A3 T 4mX £ £ 208 1280, 5 987 988033 198 198803 E = TR 12,065,000
T A3 T I 501 (2177) 200 5 988 989033 1988 198903 E = TR 30,202,000
T A3 T ) 2500m 5 988 989033 1988 198903 E = TS 945,000
T B I ERTVLAZEIE) 51 988 989033 1988 198903 E = TS 200,000
BT 3] 4273 T A0 22 8B £ B 1R M SE-5000-K0) T 988 989033 1988 198903 E = TS 190,000
SEH] 4273 T 4mXET £ 158 960m 5 988 989033 1988 198903 E = TS 940,000
4273 T 4mX % £ HE50{8 3200m 5 988 989033 1988 198903 E = TR 30,950,000
4T3 I PE(EIP; 1HI77 2500m 5 989 990033 1989 199003 E = TR 10,185,000
1275 oz ERTAAEEE) 518 989 99003 1989 19900 3 = THEA ,200,000
1275 T ﬁﬂ! ﬁ(wﬁﬁ)\lﬂ! i) 1% 989 99003 1989 19900 & = THEA 846,000
1275 oz 4mX7 £ £ 2018 1280m 989 99003 1989 19900 & = THEA 13,347,380
1275 oz 4mX 7 £ HE50{8 3200m 989 99003 1989 19900 & = THEA 33,297,000
1275 oz & (BA%G) 3T 6300m 990 99103 1990 199 & = THEA 26.450,000
1275 oz T S R B2 A A 74— 7‘J7b> ES 990 99103 1990 199 & = THEA 783,000
1275 T ZRMEONITE 7v-) 1 5 990 99103 1990 199 & = THEA 10,785,000
L A7 EPP T ﬁ%m’r’%&(%mﬂsuk\ F-R)=IAT) TE 990 99103 1990 199 & = THEA 300,900
BT 1275 oz 4mXZ/ AR §E 1518 O 5 990 99103 1990 199 & = THEA 10815.970
1275 oz im X% £2 £ 40{E] 2560m 5 990 99103 1990 199 & = THEA 27,691,000
1275 oz Tl &2 i E%(SiE 1F 304.4m) 304.4m2 990 99103 1990 199 & = THEA 133,160,000
1275 oz BB 1 991 99203 1991 19920 & = THEA 196,000
EPP T GENEEER 1R 991 99203 1991 19920 & = THEA ,060,000
1275 T PEATEATER) 15 5 991 99203 1991 19920 & — Rt THEA ,000,000
1275 oz !Ezk 1 991 99203 1991 19920 & 5 AGH & E RIS 11.00] i THEA 1
1275 oz (07 L=600m) 1% 992 303 1992 199 & 25 THEA 186439
1275 oz 4mxiﬁﬂ§17(@ 1088m 5 992 303 1992 199 & — =t THEA 13.160.180
1275 oz RF{#It 3 10K 5 992 303 1992 199 & — =t THEA 500,000
EPP T ,ﬁiﬁ"m&(ﬁﬁm/ ) 2K 992 303 1992 199 & — =5t EX: THEA 14,000,000
1275 oz TFokiE 1l 5 992 303 1992 199 & 441[m EE( 75 EIRE | 786 44,565,440
EPP T FIpIE; km&(f /7 1808 15k 992 303 1992 199 & EXE THEA 839,578
1275 oz E37] 3m 992 303 1992 & EXRR THEA 10,000,000
1275 oz 4mXZ 56&46(@ 2944m 992 303 1992 & EXRR THEA 35,790,000
1275 oz 5 (AAE) 3350m 993 14033 1993 & FEEIRE Tt 12.860.000
4T3 RF{EIEHE 102 993 14033 1993 & EXRR A 700,000
A9 IKPIKWZ&‘(QMJEW,&‘) 11 993 14033 1993 | 3 EXRE BEA .519.000
Erb BER (415 993 14033 1993 3 EXRR et 14,317,000
A7 )%Mi&ﬁ%&(ﬂll‘l% ﬁG HEKIERD) 15 993 14033 1993 [ 3 EFERE BEA ,024.815
Erb Tk avHU— 5 993 14033 1993 3 68[m EE( 75 EIRZE | T8 871,768
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